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PART - I 

MENTAL ABILITY TEST (MAT) 
zrIft.q5' TWEdT 44Niff 

(QUESTION NO. 01-100) 
	 *icqAI 01-100) 

1. What is sum of all positive factors of 256. 

	

1. 	526 	- 	2. 	511 

	

3. 625 	 4. 562 

1. 256 * 74-11 tl'91--01- 	4,101.-MuSI Thl v1).5 (NI 
0 411? 	. 

. 
1. 	526 	 2. 	511 
3. 	625 	 4. 	562 

2. Value of 	X 	X + I 	1 	will be? + 2.  I X
+ 
 X +1 	 +11-1 	411? 

X+1 	X 	X(X+1) 
1.X2 	 2. 	1 
3. X 	 4. 2 

X +1 	X 	X(X +1) 
1.X2 	 7. 	1 
3. X 	 4. 2 

3. Sum of sequence 5+6+7+8+ 	+19 will be? 
1. 	180 	 2. 	175 
31 	185 	 4. 	190 

3. :lit 	5+6+7+8+ 	+19 	chl 	-1) 11 1-Pc-i 	GkieN 
0411? 

	

1. 	180 	 2. 	175 

	

3. 	185 	 4. 	190 

4. If three Numbers are in Ratio _ •_2  :2, Difference 
2 . 3 	4 	- 

between largest and smallest is 27 then numbers are 
1. 	54, 72, 81 	2. 24, 45, 51 

	

3. 64,72,91 	4. 	54.65,81 

4. 2  Tft-  0)-1 74-Cq:IT 	317.  it _1  • 	•3 *1 7f-4-4 
2 . 3 . 4 

Or -q.  "R-fq-4 'Eiter .-icq-i 14 cot 3W 27 * cl) 
cl 	TCir 	* :- 
1. 	54,72,81 	 2. 	24,45,51 
3. 	64,72,91 	. 	 4. 	54,65,81 

5. Which of the 	following number will 	completely 

divide the value of (325 + 326 + 327 + 321?  

1. 35 	 2. 40 
3. 50 	 4. 45 

5.  (325 + 326 + 327 +328) _. 	,-iii 	
f-. 4....Afz.ci 	A. 

t 1 -R-i ,t-kcLil t Tufff: f4Trfff 0411? 

	

1. 35 	 2. 40 

	

3. 50 	 4. 45 
6. Rohan's score on the mid-term exam was 75, and his 

score on the final exam was 90. If the weight of the 
final exam is twice that of mid-term, what is Rohan's 
final score in the course? 

	

1. 	82.5 	 2. 	80 . 

	

3. 	85.5 	 4. 	85 	• 

6. liZZITql4 	LI 	a-TT 	14 	.-1 	Th71 	'-c-t-) 	75 	2u 	31'17 
3ift4 1-1&9-1 it .3flcm 	, -(4,1 	90 21T I zift 3-itli 
t-Olarr m--r liF Trzzrr-qtr Ertur * -1JT-r-q-- 	814,01 
t, 	(1) 	Litst,4-1 	-4 	, .-1 	cm 	, -(.1)1 	cte41 	t? 
1. 	82.5 	 2. 	80 
3. 	85.5 	 4. 85 

7.  A grandmother, mother and daughter wish to arrange 
themselves in a row in order to be photographed. 
How 	many 	different 	ways 	can 	they 	arrange 
themselves? 
1. 	6 	 2. 	3 
3. 	18 	 4. 	9 

7, -R-A17 	R.4-c.4cil4 * f7 • 	ci,) 	-1--41-, R. 4-7 Vr 
3174 3Trcr 	pct., 	1:11.  4 .71-41t21-ff 	4> 	.-11 
*1 	-4 31ul- 	3111cf- 	i -ff4 	iftr-A. 	t 	al-q-ft-qff 
c1.). 	T{WeI g? 
1. 	6 	 2. 	3 
3. 	18 	 4. 	9 

8.  At the time of marriage a man was 6 year older than 
his wife, but 12 year after the marriage his age was 

-
6 

times the age of his wife. Their ages (in years) at 
5 

the time of the marriage were? 

	

1. 26, 20 	2. 24, 18 

	

3. 27, 21 	4. 30, 24 

8. itql-* 	7194pct, 3T1 	371-4t 1lc-4) t 	14 
6 	cIti 	sql 	P-TT, 	f+-9.  f4q-ig * 	12 	c14 	t-1 -r-11c1 

R-i---̀ t 3T-9 - 9--4-  -cri'r cb`l 39 * 	-6 	
4,1.11 zit I 

5 
fd--1* * 7171 3-T4.  39 ( -9-1 -4) cV-41 2,11 ? 

	

1. 26, 20 	 2. 24, 18  

	

3. 27, 21 	 4. 30, 24 
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9. 

	

If we. 	throw 	a 	dice, 	what 	is 	the 	probability 	of 
obtaining a result that is less than 4. If we know that 
the result obtained was an"even number? 

1 

	

1. - 	 2. -
2 

	

2 	 3 

	

1 	 4 
3. 	- 	

.
4. - 

	

3 	 5 

a qR 641 	cp  tiT7T 1:b- M-0-  t, t 4 t 04-1 LIRu11 41 
mit-ci 	ct-).) 	4 	WRIct)01 	cM1 	1Tft, 	307 	611 
vil.-ic) 	. 	14) 	WIL-0 	LIRu11 41 	cl') 	'- -1 .-It-cqi 2-fr? 

1 	 2 
1. 	

2  
- 	. 	 2. 	-- 

3
: 

• 1 	 4 
3. 

3 	
4. 

5 
10. There are 10 balls" in a box, 5 white and 5 black. Two 

balls are removed randomly from the box, one after 
another. The first ball that is removed is black and it 
is not returned to the box. What is the probability that 
the second ball that is removed is also black? 

	

5 	 4 _ 1. 	- 
9 	

2.. 	
9 
1 

	

3. -
3 	

4. - 

	

9 	 2 

10. (.1) itO 14 10 ,I. 	t, f -9-4 5 Tiltq t 3117 5 
-r--4t t I 	',* Gliq vit ft0 t qii-ttoqi t 

4)..  fcole-11 7rth * icg-4t 4q - 1- -14)10-11.  wth 
c1 	 \3‘a 	 .1  6 m-r-A-  t 3T17 	qltRi itO # 9ti 

vim! I ctql qAcocir * 14) 6ti 	q Vitt 41.q 
lir 	-r-4t t? 

	

5 	 -4 1. 	-- 	 2. 

	

9 	 9 
1 

	

3. 3 	 4. _ 

	

9 	 2 
11. Some equations are based on the basis of a certain 

system. Using the same pattern solve the unsolved 
equation.If 	10 - 3 = 12, 12 - 4 = 13, 14 - 5 = 14, 
what is 16 - 6 - ? 
1. 	10 	 2. 	15 
3. 	16 	 4. 	18 

11.  Th715 	fl 4-1)c 41pct-) 	Bch WITT41 1:T7 31TETTI:  
* I T 	ct), cF, 	319314f 
‘<1 41)cp•041 	ctl Gel 	ct) 2 qR 	10 - 3 = 12, 12 - 4 = 
13, 14 -5 = 14,t 16 -6 =? 
1. 	10 	 2. 	15 
3. 	16 	 4. 	18 

12.  Excluding stoppages, the speed of a bus is 54 kmph 
and including stoppages, it is 45 kmph. For how 
many minutes does the bus stop per hour? 

	

1. 	9 	 2. 	10 

	

3. 	12 	 4. 	20 	- 

12. 6 	.fl cl 	chi 	to) 	ct) 	ct) 	tski Thr 	4  0 	54 	ft. t. 
Cirt 	titi 	t-  317 	661c.1 	. 1-ftd" cN-f 	4 	4 I1 	45 

.t. 	cit. 	titl 	t, 	szN1 	1;11T 	tick 	r+-d-4 
f49Z * -ra7 --mth *? 

	

1. 	9 	 2. 	10 

	

3. 	12 	 4. 20 
13. If 40% of 1620 + 30% of 960 = ? % of 5200. 

	

1. 	12 	 2.24 

	

3. 	5 	 4. 	18 

13. qR 1620 Th-T 40% + 960 Th-T 30% = 5200 MI 
? %. 

	

1. 	12 	 2. 	24 

	

3. 	5 	 4. 	18 
14. In a row, 25 trees are planted at equal distance from 

each other. The distance between I s` and 25th  tree is 
30m. What is the distance betweeen 3"I  and 15th  tree? 
1. 8m 	 2. 	15m 
3. 	16m 	 4. 	18m, 

14. Lc-t.) iii 	k 25 	ENIGN 0 IF 01411 	1T7 * I 
WO-  311 	25 	t).5 * "4* c 	VI 30 tUR.  t 
Atff4 3117 10 t) 	* 4)-c1 Mc't Vt gild c,0? 
1. 	80 	 2. 	15410 
3. 	1610 	 4. 	18#10 

15. In a school, the bell is rung once after each half an 
hour. The school 	starts at 8:00AM and close at 
1:30PM. The bell is rung 3 times continuously, at the 
time beginning, at the time of lunch break at 10:00 
and 10:30AM and at the end. How many times is the 
bell rung every day? 
1. 	21 	 2. 	22 
3. 	19 	 4. 20 

15. 1ct 	I SlIelq 4 c{T--4-- 	3TTO- Eru8 qiq to .4.---- 
*1 	i-411e14 	MIcl: 	8:00 	C.k3) 	VI-41T 	6)01 	* 31t 
1:30 ITR.  61.  q 	0 CI I t 1 	-Of) 	e.1 411c1k 3 	OH 

"iii 

	

r-ld'r t 	74 	* 4  

	

, 	vrtIT, 	(4-c4 	10:00 	Gi 	311 
10:30 	4 	3117 	3iff 	4 Ic17)T 	R -I 	Eitret 
Wfft €11 .q.---Idt *? 

	

1. 	21 	 2. 	22 

	

3. 	19 	 4. 20 
16. If 80% of A = 50% of B and B = x% of A then value 

of x will be? 

	

1. 	145 	 2. 	170 

	

3. 	150 	 4. 	160 

16. qR AW 80%=B* 50% 3117B=AT x% 
cyst 	x 	- 1" 	I-11-1 	6) 4 i1? 
1. 	145 	 2. 	170 
3. 	150 	 4. 	160 
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17. 1TM sP1-11 410 ti-q-11311 TT TUT 7 	c ‘1.141 
TRO (441 ,4-i.c.441-  col-r Tit *? 

	

1. 10 	 2. 7 

	

3. 9 	 4. 8 

18. ziR x+y+z= 15 t x2 +y2 +z2 =51 

x3  +y3  + z3  -3xyz T1* Trrff 0411 

	

1. 540 	 2. -540 

	

3. -225 	 4. 765 
19. If Area of any Triangle is 384 cm'-  and its sides are in 

Ratio 3:4:5 then perimetre of triangle will be? 
1. 60cm 	 2. 48cm 
3. 64cm 	 4. 96cm 

20. -
13 

is equal to 
48 

1. 	1 	2 	 

3. 

3+ 

1  
1  

1  
1+ 

2+ 
4 

4 	1 

3+ 
- 
8 

22. The accompanying figure shows a right + trapezoid 
(ADI(BC) Based on this information and the 
information in the figure, the area of the trapezoid (in 
m2) is  

A 	12m 

B 
1. 150 
3. 108 

2. 120 
4. 96 

10m 

P 1 . If for any two numbers a and b, the operation $ is 
defined as follows : 
a$b=ax(a+b),then(2$0)$1=? 

	

1. 12 	 2. 10 

	

3. 20 	 4. 4 

Direction (23 to 25) find the missing numbers in the 
number series. 

!3. 4, 8, 28, ? , 244 
1. 69 
3. 80 

2. 75 
4. 90 

C. 
2. 120 
4. 96 

B 
1. 150 
3. 108 

22. 	 t11-1(14 Wg'11 
(AD(IBC) 44Tim I **I TO-ffr 31 f -.=1  4  t 

3TEUR tH, t141(461 
aqcb-F (a,14.1) 	t - 

A 	12m 

10m 

17. The mean of five consecutive numbers is 7. Which is 
the highest number? 

	

1. 10 	 2. 7 

	

3. 9 	 4. 8 

18. Find the value of x3  +y3  + z3  - 3xyz. If 

x+ y+ z =15 and x2±y2+z2 =51. 

	

1. 540 	 2. -540 

	

3. -225 	 4. 765 

1 

1 

3. 	1 	 4 	1  

3+ 
1+ 	 

1 	 1+- 

	

2 +I 	
8 

4 
21. ta ft-if t tit(441311 a 31'17 b 
	 err $ 	 wqw 
rfRITTRiff fzrr 	: 
a$b=ax(a+b),t(2$0)$1 =? 

• 1. 12 	 2. 10 
3.20 	 4.4 

f4-414T (23 t 25) lits.441 501-0. 	qi.ci lity-ff WI VC' 
• 

23. 	4, 8, 28, ? , 244 
1. 69 
	

2. 75 
3. 80 
	

4. 90 

19. 	f+-3-11- 	 F 384t.11.z t 31 t.t. t 
IFT1 3:4:5 T 31-1tirff 	t I *ti 

ti-ftRt 0,11? 
1. 60 t.t. 	 2. 48 tf.t. 
3. 64 t.Tir. 	 4. 96 t.t. 

20. 

2 

3+ 1 
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24. 4, 7, 12, 19, 28, 39, .. 

	

1. 48 	2. 52 

	

3. 55 	4. 58 

24. 4, 7, 12, I9, 28, 39, ? 

	

1. 48 	 2. 52 

	

3. 55 	 4. 58 

25. 10080, 1680, . , 84, 28, 14 

	

1. 840 	 2. 	168 

	

3. 	108 	 4. 336 

25.  10080, 1680, ? , 84, 28, 14 

	

1. 840 	 2. 	168 

	

3. 	108 	 4. 336 

26.  

• 

The compound interest on Rs. 30,000 at 7% per 

annum is Rs. 4,347. The period (in year) is 

	

1. 	1 	 2.2 

	

3. 3 	 4. 3.5 

26. 7% .4Tift- 7 ER 30,000 Wzr 1:17 . Wift 

OM 4,347 	)44. t I -WM &if 	(441 it) t - 

1. 	1 	 2.2 

3. 	3 	 4. 	3.5 

27. Among the numbers ,5,3-5,•4116,0 the greatest 
one is :- 

1. -j 	 2. 314, 

3. 1/1-6 	4. 02 

27. -,3v-  - - titc44311, .,r 4 ,f j6,5 32 # 7-0-o 444) t 

1. Nri 	 2. 3/4, 

3. -1T-6- 	 4. 02 

28. If x + - . 2 	and x 	is real, 	then the value of 
X 

I 	is  x„ 
+ --- 

28. 411.4 	2 3117 x ciN-ciRct) * t x +-I  . 	 x17 	19- 
x 	 X 

Th7  

	

1. 	1 	 2. 	0 

	

3. 2 	 4. -2 
x19  

	

1. 	1 	 2. 	0 

	

3. 2 	 4. -2 

29. - To win a 20 over match, the run rate is required 7.2. 

If in the end of 15th  over, the run rate is 6. Then to 

win the match the" required run rate is? 

	

1. 	1.2 	2. 	13.2 

	

3. 	10.8 	 4. 	12 

29. 20 	31)--4 	." 	.) 	-ci 	4, 	ZtIrdA  
7.--t 791 Th1- -q7 7.2 * I 	11 	151 311-47 	3111 
cict) 	c61 	6 	 * fk  V91 	- 7 	t, 	.11- 	It-d-4 
tff4 791 	311-174T 'Yerl.? 
1. 	1.2 	 2. 	13.2 
3. 	10.8 	 4. 	12 

30. If P and Q are 1-I.C.F and L.C.F of two Algebric 

expression respectively and P + Q = x + y then what 

will be value of P3  + Q3? 

1. X3 +y3 	2. x3  -y3 

3. x+ y 	4. x- y 

30. .IR 	41.1401014 a-1,Q x 'ff2,1"T y .$ 1-i6V-f 
ti+-ii44-c1ct) . 211. .FEFTT 	-<1 4-ill-icicict) 	04-M P -ff21r 
Q A" 30 P+Q=x+y, 	P3 + Q3 --T TIM 
4-241 	0 411? 
1. X3 + y3 2. x3  -y3  
3. x+ y 	 4. x- y 

31. Pipe A and B can fill a tank in 12 minutes and 16 

minutes respectively. Both pipe are kept open for x 

minutes and then B is closed and A fills the rest of  

tank in 5 minutes. The value of x will be 

	

1. 4 minutes 	2. 6 minutes 

	

. 3. 5 minutes 	4. 7 minutes 

 31. rflti A q Bc1) t-4-  Thl.  5174-1YI: 12 Th-Te T 16 
fkffZ. 14 IT- 	'WM-) 	* I 	11 	ql.-4 	LII*4 	-) 
irg 	'P 	f' 	Rta-r 	.1N 	(x 	fit9-e.  xM' 

4R-c411), 3117 61 'eel M-1 A, 5 r. ie 14 1-7aT t 
th.  x m-r Trr-q 	)iii? 
1. 	4 ii:TTd 	 2. 	6 l'it 
3. 	5 f1rit 	 4. 	7 1.-id 
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32. The accompanying figure shows right triangle ABC 
and isosceles triangle ABD (AB=AD). 

A 

2.13 
B 	 C 

32. , -1(1 4 -1 31-17it 	c,t-) 	•-1 41ct))ul 	riqp ABC 47 	c-t,  

344fOrg -14-1-7 ABD (AB=AD) .T1. -q7IfM 
A 

.  	L 

pit. 

/hiI 	 "16- D 

Based on this information and the information in the 
figure, the value of angle a is. 

	

1. 60° 	 2. 45° 

	

3. 30° 	 4. 25° 

B 	 C 

*1 	s-k-r4.-11 	31tR. 	3firfit 	if 	qr) 	41i 	•q,z1.-11 	* 

. 3truF rF 	1-tur a c1)1 4-1I-1 t I 
I. 	60° 	 2. 45° 
3. 30° 	 4. 25° 

33. Q 33.  Q 

0 B 
40° 

.. . , . ...,.....:''? .. 

The accompanying 	figure 	shows a circle 	whose 
centre is 0 and radius is 10cm. The shaded sector 

1 equals - 	of the area of the circle. Based on this 
6 

information and the information in figure the length 
(in cm) of the are AQB is: 

1. 	307r 	 2 	40 . --n- 
3 

3. 	20 4. 	207r 	- 

B 
40° 

A 

-•-.....,--- 	p 

'fl.e1"1 	31Tet 	Bch 	ciT1 	t, 	1 -1(.01 	ct”- 	0 	t 
31t- 	i -,--rzir 	10cm 	co) 	.-vri--ffr 	t 1 	ti)14114)(1, 

-f -Try r- 74, q-c1 * a)----cb-F * I * 6k1,,k t I 
6 

*1 	4,-r-1,-11 	3ft7 r4.-.  4 t 	,Ii 	,<1,-,4-11 	* &RIR 
T4I14 AQB 4 -.1=zr-r 	(*ft. #) * I 

40 I. 	307r 	 2. 	__ _ g 
3 

3. -20 ir 	 4. 207r 
3 

34.  If length of a Rectangle is increased by 25% and its 
width decreased by 20% then of the following which 
change in the Area of Rectangle occur. 
1. 	10% Increase 	2. 	16% Increase 
3.. 5% 5% Decrease 	4. No change 

34. tfit -171 31TTM 	-1 1-1 	25% 	GI q, 	\II I * 3117 
-4)1i 	20% 	tit 	\TIN 	c 	31-171-ff 	* 	e.)---1:5--F 	14 
rfil;:l. 14 t ct/-1 	fll 	LIRcic-1-1 t \3-iN 4 ii I 
1. 	10% 	 2. 	16%  ft-  
3. 	5% ---t 	4. 	aigRciWt 

35. An official meeting is attended by 130 department 
employess of them 66 drink tea, 56 drink coffee and 
63 drink juice, 27 can drink either tea or coffee, 25 
can drink coffee or juice and 23 can drink juice and 
tea. 5 employees can drink any of the three. How 
many drink only tea. 

	

1. 	21 	 2. 	22 	 • 

	

3. 	18 	 4. 20 

35. (.1-) 	31-rfTft 	4-6-- 	4 ftl-IFT 	130 	ct) 	-c-II 
'1-'thl .ucrftztff 	0, 	-f -R9-4 	66 	2114, 	56 	3117 	63 

vi (,) 	t I 27 . 1--q-  71.  TTY, 25 - 1-1tt TIT vi 
3117 	117 .-Fi 	t 	 Tql4 23 	\V-1 	3 	e)a 	I 	5 	cb 41T-11  
t TU.  lft c,)c-) t I . )..f -----d-4 cc4c,i 	tl I q 	c) 4 t? 
I. 	21 	 2. 	22 
3. 	18 	 4. 20 

36. Of the three number, the sum of first two is 55, third 
is 65, and sum of third with thrice of the first is 110. 
The third number is? 

	

1. 25 	 2. 	30 

	

3. 	35 	• 	4. 	28 

36. .ff19. 	tk.s.-1l311. 14 	t 	tr-gi 	*). 	CPI 	'4 ',I Loci 	55 	t 
3117 Tit 31 	tUtt 	cpI 	-41,1 ,-t)c,1 	65 	t 3T 
1:1-6-41 * 'er9. 	tt'il 	712-1.  AtTitt 	V 	e4) 4 11-0 CI 

110 * I t-R-i-tt fl. ..,,-zit 	*? 
1. 	15 	 2. 	30 
3. 35 	 4. 28 
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Directions : (37 to 40) Study the following table and 
answer questions given below : 

1 	1-  : 	(37 0 40) 1*-AR.10 ail' uit ..1 3TuRF 

ftf-- 	3N 	1 	-Tt-R. 	.-11. --r \i-c-N -: : 

EMPLOYEES SOURCE OF INCOME (Rs.) --Tkrid 311-4 	1)--a (-) 
K L NI N 0 K L M N 0 

c-1 ,1 12000 6000 21000 9000 12000 Salary 12000 6000 21000 9000 12000 

.qt971 2400 	. 1200 4500 2400 3000 Bonus 2400 1200 4500 2400 3000 

Overtime 5400 2100 6000 5100 6000 34-4R' ur4TE 5400 2100 6000 5100 6000 

Arrdrs 6000 5400 12000 4200 7500 ElcORIl 6000 5400 12000 4200 7500 

Miscellaneos 1200 300 1500 300 1500 f4ft5 1200 300 1500 300 1500 

Total 27000 15000 45000 21000 30000 `121d 27000 15000 45000 21000 30000 

37. 	The employee who has minimum ratio of income 
from arrear to income from salary is. 
1. 	K 	 2. 	L 
3. M 	 4. N 

37. 	cif 	04-c11) 	ce)1.-1 	t 	D'Oct)I 	tictliqi 	74 3TRT •Wi.  

c-h-r t 3Trzr * TiT2T 31-Tfiff .R:0-dTf t? 
1. 	K 	 2. 	L 
3. M 	 4. N 

38. 	The 	employee 	who 	earns 	maximum 	bonus 	in 
comparison to his total income? 
1. M 	 2. N 1. 

.3. L 	 4. K 

38. 	TO" 	c04z111) 	7). 	3T 	ct2(-1 	31Tzi 	4 	qei-ii -4 
31-1 ---d7 t- Ti cP411c1I t? 

	

M 	 2. N 

	

3. L 	 4. K 
39. 	The employee who has maximum percentage of his 

salary out of the income? 
. 

1. 	K 	 2. 	L 
3. M 	 4. 0 

39, 	16 c041-ra i'79-$ LIN1 3TtPt c chi c471 3114Wdi:I 

' :11 DM 3171 34' .:M.--7 t? 
I. 	K 	 2. 	L 
3, M 	 4. 0 

40. 	The income from overtime is what percentage of the 
income from the arrears in case of employees in 
category 0? 
1. 	80 	 2. 	75 
3. 25 	 4. 20 

40. 	Th-tft 0 -4 cw-l-ciiRq).  * TrniA.  74 311-4Tdr*Ii 0 
3TRI 	el cf>1 zit 74 zwzr m--r -1 --d-4 crfdvr 	*? 
1. 	80 	 2. 75 
3. 25 	 4. 20 

41. 	The ratio of the present ages of Mohan and Suresh is 
4:5. Five year ago, the ratio of their ages was 7:9. 
Their present ages was (in year) are : 
1. 40, 50 	2. 	18, 25 
3. 40, 60 	4. 20, 25 

41. 1:4-69.  3t)7 31-"W . 1 q4.111-9.  3T1-71 Th-T 3ITIM 4:5 
t I 	t-rizi 	cJ  4 	1:1", 	*U9Thc't 319 Thl 31-71M 7:9 
21T I 3-q.er"4-d1TF 3ft (c14 14) t :- 
1 

	

. 40, 50 	 2. 	18, 25  

	

3. 40, 60 	 4. 20, 25 

42. For a business lunch in a certain restaurant, you may 

. choose one of 3 different first courses and one of 4 

different main course. In addition to first course and  

the main courses, you have a choice of a soup or 

dessert. How many different combinations of three 

course business lunch does this restaurant offer? 	. 

I. 	12 	 2. 	14 

3. 	18 	 4. 	24 	
., 

42. 	ych 	1* -c-tc-1 	--t 14 	fut.).4-i 	rizt 	(tire 
71)-- ) 14 3IFT 3 31-a7-31-671.  WI vjf791 A t 
yco 	--1 Nct)c)  , 	t 	3t17 	4 	31-67-31-67 7021. 
ai7-11 14(C 	-q-t 	,dcba 	t I 	*flcf\-) 	editqff 
WTI ceiv11 31f7 .11Co:f c4u1-1 	3Tra-r-41-  3Trur---1 
It79):cTR-t V-I Tit ftEdIt 4 t yco -q.-1 ,) wr 

I 	*fl 	4t).-t 	yct) 	D-c4,5i '1 	(c1).-1  r4-wFr   
-6-Tr -6-Tr czivi-i 	ciicv)) 	fui-)*1 	d...rt 	c*,i ---dA 3F-3F 

-et -t.z11,ii.-r 	itvrm-vt. 	ct) 	t? 

	

1. 	12 	 2. 	14 

	

3, 	18 	 4. 	24 
43. 	If the length of a rectangular plot of land is increased 

by 121/2% and the breadth is decreased by 10%, its 
area is - 
1. Decreased by 1.25% 	2. Decreased by 2.5% 
3. Increased by 2.5% 	4. Increased by 1.25% 

43. 	zfft 	VI 	ct.) 	3T171-dTW7 I'll'E 	'a-Rift 
12%2% T41 t Wt.  * 47 T..4i 10% till t 

- 4't t 	) 	flci.)1 4icb---6 - 
1. 	1.25 qt vilym 	2. 	2.5 tit v1N+11  
3. 	2.5 	1c 	uilym 	2. 	1.25 	GI 	u1N 4 11 
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44. K is an even number and P is an odd number. Which 

of the following statement is not correct? 

1. P - K - 1 is an odd number 

2. P + K + 1 is an even number 

3. P x K + P is an odd number 

4. P2 + K2 + 1 is an even number 

? 
 

44. 

. 
K 	c•I') 71TI tk.sql 	t 3ti-R•  P 	(-1) Rtiq '-kg-11 	t i 

.-1 	cf T2191 A tr col-r wr - ti-ff 3TTIFI 

1. P - K -1 	ct) 	itli-i 	fl.tseii *1 

t I 2. P + K + 1 	c.t.) 71TE ti.-Q-41 
3. P x K + P 	-) 	1 	41 ,t-k..c441 *I 
4. P2  + K2  + 1 	c.t) 7ili *its4-il * I 

45. All of the liquid filling a cuboidal container that 
measures 2cm x 10cm x 20cm is poured into a 
cylindrical container with a base radius of 5cm. What 
height (in cm) will the surface of the liquid reach in 
the cylindrical container? 

16 	 2. 	40 

7r 	 ir 
3. 	8.ir 	 4. 	8 

45. Ich 	IEMTIT 	c 	31I l5T7 	.. ''449., 	.1 -iit. 	TEM 
2-tt. 	x 	10't14). 	x 	20 \') 41). *, .W1 Li,) 	ck6 t 
IN 	cite)Th""). 	54. 	3T1tTT7 	IT 	cil 
, M-1-11cON Gicil 4 LO-  ct'6 t .3cyf f.li 	vin 
*1 	tc,i-iicok 	Glcii 	# ' -q- -el.  W-d-g ft7i 4i-cili 

40. 

71" 
8 

04 4) cup tra-- 	fl? 
1 	16 	 2  

IT 

3. 	871. 	 4. 
46, (0 < 0 < 90) 

If 	tan9+cot0= 2 	then 	what 	will 	be 	value 	of 
tan"O+cot"O? 
1. 2 	 2. 2,5 

3. 	1 	 4. 	I 
li- 

46. (0 < 0 < 90) 

t 	tan" 0 + cot" 0 

2/ 

I 
-15 

q1.4 	tan 0 + cotO = 2 	t, 
ft -d-9-r 0 4 ii? 

	

1. 	2 	 2. 

	

3. 	1 	 4. 

47. What is the cofficient of a2  b2  in the expansion of 
(ci + b)°  • 

	

1. 	1 	 2.6 

	

3. 2 	 4. 3 

47. (a + by * 5dtIN.1 4 a2 b2  TT 71-1 	4 11? 
1. 	1 	 2. 	6 
3.2 	 4.3 

48. 

3.  

In 
the 

1. 

a class composed of x girls, 
class is composed of girls? 

y(x + y) 	2. 	x 
xy  

x 	 4. 	Y 

y boys. What part of 48.  \TT TUT # x cr-114)41 47 y c,i. 	* I t Th-aiT 
W.  *? 

x 
xy 

Y 
xy 

wr f+--ff-gr ft-TiTT c'114)q).  

1. 	y(x + y) 	 2. 

3 	x 	 4. 
(x+y) 	 xy (x+ y) 

49.  The expression 	26" - 42" , 	where 	n 	is 	a 	natural 
number is always divisible by - 
I. 	15 	 2. 	18 
3. 36 	 4. 48 

49. Ge-IvIct) 	26" - 42" 	vIel 	n 	L ) AT 	•-k-q1 

18 
48 

30 'OUT f411-FizT- 	Oaf t - 
1. 	15 	 2. 
3. 36 	 4. 

50. If 	x . 2 - 2. 1 + 231 	then 	the 	value 	of 
x3  - 6x2  +18x +18 is- 
1. 22 	 • 	2. 33 
3. 40 	 4. 45 

50. -iR 	x = 2 - 2 X  + 231  t ,X3  - 6X 2  + 18x +18 c 5--T TIT9' 
t - 
1. 22 	 2. 33 
3. 40 	 4. 45 

51. In 

1. 
3. 

this given figure how many triangle are there? 51. 

. 

tt 4 1 	3Tre4 it fil-pl ''1.  tit c4-11 WHO . 117? 

12 	 2. 	10 
14 	 -4. 8 

	

. 	12 	 2. 	10 

	

3. 	14 	 4. 	8 
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52. If Amit's fatherr is Ketan's father's only son and 
Ketan has neither a brother nor a daughter. What is .ff2/1 
the relation between Ketan and Amit? 
I. Uncle-Nephew 	2. Father-Daughter 
3. Father-Son 	4. Cousin 

52. --4-R 3T-Pfff * ftd-T ePc1-I 	ftd.T 	 P 
'r 0-1 4)1 9 cP) 	li-r-4 t 3ft7 	tt Vt 

t hl (4')c-vr 3N-  31f ff .. '4)-- 	4 T:ir T{T*-1-  t? 

1. 	-elIT-11-.41-017r 	2. 	ffm-gt.  

3. 	trd.T-p-• 	 4. 	1-Ter7T 

53. In a certain code language 'si po re' means 'book is 
thick', `ti na re' means 'bag is heavy', 'Ica .si' means 
`interesting book' and `de ti' means 'that bag' what 
should stand for 'that bag is interesting' in that code 
language? 
I. 	ka re na ti 	2. 	de si re ka 
3. ti po ka na 	4. de ti re ka 

53, ''7---T f+-ti't 	ci 	'-TAT 	14 	̀si po re' (-PI 	31.2t 	*, 

*el t' 	̀ti na re' ctI 3T22.  * 11T lilt t" 	̀ka si' 

1 )-elc1) a-----' 	30 `de ti' CPI 3TO t cbt 	3T2 	* 
'cl 'cl 	4 41' I 	uTit 	cPt 	li-rtErr 	4 	4 4 1 	'Vr,tcl) 	ti  

c 	fuir ki1N 411? 
1. 	ka re na ti 	 2. de si re ka 
3. 	ti pc) ka na 	 4. 	de ti re ka 

54. In a certain language 	'PRINCIPAL' 	is written as 
`MBOQSOMVW' and 'TEACHER' is written as 
TDVSZDB'. Then how is 'CAPITAL' written in 
that code? 
1. SVMOFVW 	2. SVMODVW 
3. BVMODVM 	4.SVMIDVW 

54. -1711- 	FTEIT 	# 	'PRINCIPAL' Thl. 	'MBOQSOMVW' 

.M.T 	'TEACHER' 	c-P) 	'FDVSZDB' fufT ultc11 	* 	(1) 

--.1-1TrifT 14 'CAPITAL' eh) 	cW 	fuiT kitt+II? 
I. SVMOFVW 	 2. SVMODVW 

 I 
. BVMODVM 	 4. SVMIDVW 

 
3 

55. In a certain language ROPE is written as %57$, 
DOUBT is written as 35#8* and LIVE is written as 
@245. How is TROUBLE is written in that code? 
1. *%5#8@S 	2. *%#58@$ 
3. *%5#8@4 	4. *%458$@ 

55. f -7.11- 	cI),,t 	FTEIT 	14 	ROPE 	Thl. 	%57$, DOUBT eD) 

35#8* .ff2-11 	LIVE 	cl)) 	@245 f -qT1T 	u1lc1I  

177 4 TROUBLE4\>) fir v1N 41I? 
I. *%5#8@$ 	 2. *°/0458 chi $ 
3. *%5#8@4 	 4. *%#58$@ 

56. If $ means 'Plus(+)', # means `minus(-)', @ means 
multiplied(x), and * means `divided(±)' then what is 
the value of 16$4@5#72*8 

	

1. 29 	 2. 25 

	

3. 27 	 4. 36 

56. tli . 	$ 	4)1 	3TO 	* 	\311-11(+)", 	# 	c111 	31.0 	t 

't4t-t1(-)1 , 	 'ilurr(x)1 ,-Ti• @ CI 3T2 * 	 * cm 3T2t 

t '1-TFT(÷)' 	hl 	16S4@5#72*8 chi 1-11-1 qtfl" 61 411? 
1. 	29 	 2. 	25 
3. 27 	 4. 36 

57. In the number '5321648' how many digit will be as 
far away from the beginning of the number if digit 
arranged 	in 	ascending 	order 	as 	they 	are 	in 	the 
number? 
1. None 	 2. One 
3. Two 	 4. Three 

57. '5321648' 'W.s.---II 	 14 	ft' 	3f.- 	ATtli 	34 	.U-d- 

0 	147 	t- 	-1 ---- 	n-, 	3fml- 	4,1 	31-r -et m-q1 	-4 
-U14 t-N t? 

1. 	ci-)1 	--gI 	 2. 	L ct-) 

3. 	q1 	 4. 	-0)9 

58. In a class of 35 students Kunal is placed seventh from 
the bottom. Where as Sonali is placed ninth from top. 
Pulkit is placed exactly in between the two. What is 
Kunal's position from Pulkit? 

	

1. 	9th 	 2. 	10th 

	

3. 	11 th 	 4. 	12th  

58. 35 "65-k:  4 T -IT TT et2.11e-1 	t flic1 	T-PTi9  
L 	*t ---4f45 a -II A 	-1:17 34 -n T2T.19.  (-N t I 

AT-61 --ff 	-11* 	cP q 4-I fM.  .  
cq-I I cri c01 -I .R4 7-.1M L-N t? 

	

1. 	9.4f 	 2. 	1071 

	

3. 	11q1 	 4. 	124f 
59. In a row of girls facing north, Reena is 10th  to the left 

of Pallavi. Who is 21st  from the right end. If malini, 
who is 17th  from the left end is fourth to the right of 
Reena, how many girls are there in a row? 
I. 	37 	 2. 43 
3. 44 	 4. Data Inadequate 

59. \3 	c 	3117 	13U( 	cmcl\-) 	c,ii,i . 	c 	c.1-, 	-offr 

4 76:at * 	-Fq 'tt-- r 	-t4 -iw ER t, I: c-FFt 

q 	3317 t 21-4 -14-6k t-k * I TfR Tifo-t 7)-  • 

T-q .R4 	17t-  -I 4-6H 'ER t, -t191.  '. 	‹iq 	-r_no -ff-IF 
ER * 	1.  6R-IIV 14) Aft # f+-T-41-  cri.14oi *? 
1. 	37 	 2. 	43 

3. 	44 	 4. 	3TtW- 	3itizn-cd.  

60. Anupriya was born on 29th  Nov, 1970, which was 
Sunday. When her next birthday will fall on Sunday? 

	

1. 	1975 	 2. 	1976 

	

3. 	1981 	 4. 	1982 

60. 3T1ziT ehl 	129 	-1ell-6H 	1970 	.01 	3.TT, 	3-1 

'r vro-q-F 	2ir I 	.3-icl-)1 	31-Tra-r 	,1,-1R-1 
--ft-4R ct)) 	14 Ir? 
1. 	1975 	 2. 	1976 
3. 	1981 	 4. 	1982  
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61. 	Which one will replace the question mark? 
1 	4 

9 	5 	5 	3 	8 

651 	 246 

3 	4 	7 	9 	2 

6 	 8 

1. 262 	 2. 622 
3. 631 	 4. 	824 

3 

1 

4 	, 

61. 	W.-IclItIct) it-o.  (?) ml-  
1 

9 	5 	5 
651 	 246 

3 	4 	7 

6 	 8 

1. 	262 
3. 	631 

4 
i. 	v7-91* 3i 

3 	8 

9 	2 

4 

2. 622 
4. 824 

ii 	10? 
6 

3 

1 

62. 	If + means ÷, - means x, x means + and ÷ means - 
then, 4+6 x,9÷6-2 x5 

	

4 	 8 1. 	- 	 2. - 

	

6 	 3 

	

3. 2 	 4. 	9  - 
2 

62. qiZ +m--1-  ÷ Ti-9-0, — col 	x, 	-21r x Thl.  + 7 .  
-0-  - 	111-0 th.  4+6x 

1. 	4  
6 

3. 2 

9+6-2 x5 

'). 	8 
3 

4. 1 
') 

Direction (63 - 66) in the Question given below pice of 
paper folded and cut as shown below in question 
paper, from the given answer figure. 

fkbT : (63-66) -fir) 	R,q irR 	.-11. 	.--1 	cpi.m 	t 
.s-Thi Th--1 A-0 	-2.1-1--4----6-4 

6401311 

-4-1-4. Thrl 	\i.c.k 	31-1---Tt 

63. Question figure 63. 	F'1 3TT-Tit 

, +_. A --4-. A 

Answer figure • \3-ck 3771 - 

00 07  L LV 
L LL 

V 
,A 

0 0 L IN 
i A 

 	.A.A 7  LL 7  L 
(1 ) 	(2) 	(3) 	(4) (1) (2) (3) (4) ' 

64. Question figure 
..‘ 

64. 	W ,-i 3ITTit 

4 	'. ><0: ,;) 	(:) 
,, , 	

O 

Answer figure \3-K-H 31Tet 

0 	0 

0 	0 

0 	0 

0 	0 

0 0 0 
0 

0 0 0 

00 0  00  
00 0 	0 0 	n 0-- 

00 
0 

0 	0 

0 	0 

0 	0 

0 0 0 
0 0 0 

00  0 °O 
00  °O°00 00 

(I) 	(2) 	(3) 	(4) (1) 	(2) 	(3) (4) 

65. Question figure - 65, W .1 3T1Tit 

,-1 

11('' 

/- 
., 

)00 , f_s    ‹ 000 

Answer figure i'.Kis 	31rff .  

00
0 

oo° 

o o o o o 
400   

o°°  o°o 000 

o 
oo 

000 
o o o o o oo 

oo° 
o oo o o o o o o 

(I) 	(2) 	(3) 	(4) (1) 	(2) 	(3) 	(4) 
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66. 	Question figure 66. 	i ,-1 3T17Th" 
.., 

< s‘, < ' 

Answer figure , \3T-H 31Iff . 

V 
> '0 < 

A 

D 	4 K 
A 	4 

• _ 
v • 

• • 

• 

p 	M 

V,
> O< 

A 

D 0 4 
p 	4 ■ 

• , 
V • 

• 

• , 4 
v 

A 	III 

(1 ) 	(2) 	(3) 	(4) 
(1 ) 	(2)' 	(3) 	(4) 

67. 	In the matrix below, the numbers in the cells follow 
some 	rules. 	Identify 	the 	number 	which 	when 

_ substituted for ? Maintaing the same rule? 

67. t-- 	1 	7N 	-411c4N1 	*T§11-9-1. 14 t "f -41. 	41i 

7-i'-cqrr 	Tio -171-Til * 3T---1397 t I 	3,d t1t.q41 cb) 
 GI q cri c.t) 	\J1) 	(?) 71' 	' ' 	: Tit 	).? 

4 1 2 
4 1 2 

13 11 6 
13 11 6 

153 120 ? 
153 120 ? 

	

1. 32 	 2. 45 

	

3. 	16 	 4. 	48 	- 

	

1. 	3/ 	 2. 45 

	

3. 	16 	 4. 48 

Direction (68-72). The venn diagram given below is 
about a small circle is Marathi and triangle is Bihari 
square is Punjab. 

Bihari 

?Aft (68-72) .4) 	 Ri TN .49- 31"aUf (1-A) 4 ti9i.1 
To iTuet, filp frot ueu -q-lf wl tt---1-41. t Tetfr 

I TRif t 	.44/116, 

arm"
ftoit 

illyggliall 

ill 6 8 
ill 	6 Punjabi Marathi 

4 ot7Tt 
4 

8 	1,Fr 

68. What is the total number of Biharis? 

	

1. 	5 	 2. 	6 

	

3.7 	 4.8 

68. , 	11N. 4 c12,c1 , -itqI1 f --d-t t? 
1. 	5 	 2. 	6 
3. 7 	 4.8 	, 

69. 	What is the total number of Punjabis? 
1. 	22 	 2. 	28 	' 	• 
3. 29 	 4. 35 

69. 	ti7T-ifc cgc,1 	1~,q-11 it-dt t? 
1. 	22 	 2. 28 
3. 29 	 4. 35 

70. 	What is the total number of Marathis? 
1. 	20 	 2. 	15 
3. 22 	 4. 	21 

70. 	ITTrer 4 -E12c>i 	 •-k-q-ii jr -741- t? 
1. 	20 	 2. 	15 
3. 	/2 	 4. 	21 	

. 

71. 	Flow many Bihari which are not Punjabi? 
1. 	1 	 2. 	2 
3. 3 	 4. 4 

71.1:---d-4 itUtl. y 	t ut 	tt7M -1 	gi *? 

	

1. 	1 	 2. 	2 

	

3. 3 	 4. 4 

72. 	How many Punjabi which are not Marathi 
1. 	10 	 2. 	11 
3. 	12 	 4. 	13 

72. 	f --d-.4 147Fir 	 * \ SI 	Ii 71-ef igl. t 
1. 	10 	 2. 	11 
3. 	12 	 4. 	13 

73. 	India became a republic on 26th January, 1950. Which 
day of the week was it? 
1. Monday 	2. Tuesday 	• 
3. Thursday 	4. Saturday 	, 

-9--4-t1- 73. 	I-T17-ff 26 	1950 	co 	nuid-)1 61•11 I 	\3-f 	R-1 

-I ,-c- 	m-r cll-t TiT R-1 21-r? 
1. 	4-1c1K 	 2. 	41 4 1e1c1k 

3. 	ttOCIR 	 4. 	.Pc-4k 
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74. 	At what angle (larger) are two hands of a clock 
inclined at 48 minute past 12? 
1. 264° 	 2. 263° 
3. 265° 	 4. 266° 

74. 	12 	ti k icr)1 48 	ft1-9-E. 	7R.  Eft Thil.  t. -RpTri 

41T-I f+----d-- 	mtur (E -4-41.) 	---TTT? 
1. 264° 	 2. 263° 

, 3. 265° 	 4. 266° 
75. 	A clock 	is set right at 4am. The clock loses 20 

minutes in 24 hours. What will be the time, when the 
clock indicate 3am. on 4th  day? 
L 5am 	 2. 4am 
3. 3am 	 4. 4pm 04111  

75. ') 'Eli # 'SIT Tag 	4 qv).  *1 'Eft 24 t.M 
14 20 fk- 	tt 	.-T-er * I ,Tio -,110 R.-f Ert 
# 	3 	(71-q-g) 	.,1,i) 	cik-c-Act) 	if17:4 	cmi 

I. 5am 	 2. 4am 
3. 3am 	 4. 4pm 

76. A die has four different positions. Find the number on 
the face opposite to 3. 

76. 	tcp 7134 Thrl' - TR.  iv---1 of 	TT '71.1 	T11 g I 
3 * Tim Th°1' '-icczif vlIcf Thcti? 

/5 / © ©r 4  

4 ' 1. pr 6 1 

	

1. 	1 	 2. 	2 

	

3.4 	 4.6 

	

1. 	1 	 2. 	2 

	

3,4 	 4.6 

Direction : (77 to 79) are based on given information :- 
A solid cube is painted red on all faces. The side of the 
cube is 8 cm. It is cut into smaller cubes of side 2cm • 
Answer the following question. 

fir-  Zt 	: 	IrZff 	*it9t41 	(77 	-4 	79) 	.4----r7T' 	ip-qT tR 
ant:TO-a t 

'Tit 	 -Irr.  'crW cv)1-1 TR t 	TO Thl ei lei 	3,“Trr iTzrr 
t I ER 't Ipr 8 t.t. * I Tfl 2 t.t. site) 14t 
t4.1 	4 	colci 	vital 	* I 	Pi-iffZsiti 	vriI * 	kil-ff 
ft-f -c? 

77. 	How many cubes have three faces coloured? 
1. 	4 	 2.6 
3. 	8 	 4. 	12 

77. 	it-T4 1791 * 	-I '71Z 'tit 7 t? 
1. 	4 	 2.6 
3. 	8 	 4. 	12 

78. - How many cubes have two faces coloured? 

	

1. 	8 	 2. 	16 

	

3. 36 	 4. 24 

78. 	jiz-d-A.  EI-91 	t* 73 tit v t? 
1. 	8 	 2. 	16 
3. 36 	 4. 24 

79. 	How many cubes have only one face coloured? 
1. 	16 	 2. 	24 
3. 32 	 4. 36 

79. 	ft-d-4 t4-1.  * cigcf 	ci 	75 ''   g? 
1. 	16 	 2. 	24 
3. 32 	 4. 36 

80. 	Choose the correct option to complete the matrix? 80. 	Wt ffWFT T1 -q-14 	At-47f 4)) 	I r+-17? 
4C 2B 3A 4C 2B 3A 

28A 10C 45B 28A IOC 45B 
7C ? 15B 7C ? 15B 

1. 	15A 	 2. 	12B 
3. 5A 	 4. 8C 

1. 	15A 	 2. 	12B 
3. 5A 	 4. 8C 

81. 	Which 	of 	following 	is 	the 	best 	represented 	in 
diagram? 

.6044% 

Mill. 
1. Chair, Table, Furniture 
2. Doctor, Social Person, Honest Person 
3. Family, Parents, Children 
4. Gold Jewellary, Silver Jewellary, Ornaments 

81. 	P4-.-f 14 0.-1---i I TKO \34Th1 311 	14 TVINT 

41z11 	? 

tral 

Millr 

1. Vi, Zvi, rb--41-qR.  
2. sicYt, \L-litict-) affi, 491-iqH air4T1 

3. trit47, ii1c-ii-fTM, 
4. •-c-iuf 31171uT, 	Ttt * 3771uT, 3T11-7ITT 
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Direction : (82 to 84) study the letter series given below 

and answer the questions that follows. 

HDYSMWNBQPOCRTBLZVEGUF 

- Aft : (82 .4 84) 1+-i 	11c1 Tit mot 	r-4-Rwr Q 

EZ(TTOT tr4 aN 41-4 fZ 	TN W491 	-1.  \i-CV -k.  : 

HDYSMWNBQPOCRTBLZVEGUF 

82. 	Which two neighbours in the given arrangment are 
farthest in the alphabetical order? 
1. BandQ 	2. D and Y 
3. U and F 	4. V and E 

82. 	fit 	Tr7 7:41:11-FT 	sill-1 	-4 -q)- 	Rcbtd 44 	54-,(.5 	-4 

7-40 3TRIM-ffF V1-  f')-14 t? 

	

1. 	B 3t17 Q 	 2. 	D 3ft7 Y 

	

3. 	U 3117 F 	 4. 	V 3417 E 

83. 	Which 	letter has 	the same 	neighbours as in the 
alphabetical order through they have change places? 
1.M 	 2.N 
3.0 	 4. F 

83. f -TE 	cl uf 	# 	•-1 91 	-I 	it 	* 	'). 	• \.3 -I c- 

qu 4-i1ei1 	st) 4-1 	14 	t, 	liRzfli t 72TM 1-1Pcick 

(Mc.) t? 
1. M 	 2. N 
3.0 	 4. F 

84. Which three letters have the same distance as they 
have in the alphabetical order through they have 
changed places? 
1. HMP 	 2. NQZ 
3. QOE 	 4. YLF 

84. 	c4 6 	(-11-f 	-qui 	0,-i 	* 	f -9--- l- 	0 	fl 4ii-t 	t-, 
vi j  tr .3-6) 51) 41 # 7-2Trff ,z1c ril t? 
1. HMP 	 2. NQZ 
3. QOE 	 4. YLF 

85. 	A and B are sisters. R and S are brothers. Daughter of 
A is she sister of R. Then which relation between B 
and S. 
1. Aunt 	 2. Grand Mother 
3. Sister 	 4. 	Mother 

85. 	A 3N B 	t 1 R 3N S "Fl- 	t 1 A c6) *-er R 

Th.c't--9-gIBM-TStc.1-ql-TficTt? 

1. 	Thtt 	 2. 	--it 

--6.9.  3. 	 4. 	Tif  

86. 	Abhay is the husband of Neena and Sunita is the 
mother of Abhay. Sohan is the uncle of Neeraj. Who 
is the relation between Sohan and Neena? 
1. Jeth 	 2. 	Devar 
3. Bhatija 	4. Jeth/Devar 

86. 	3P-P-1, t-ql.  4)1 	Iii .  t 3117 	d-T, 317-7 cbil 1ff 

t I 	a.-i, 	41---. 	T-11 -r-11 	t, 	'-i) 	-I, 	t--- T 	cili 

ct1.-1 t? 

1.1)6 	 2. 	cl  
3. 	11-017T 	 4. 	v3)6/ 	c.R 

87. 	Which one 

4 

6 

8 

will replace the 

8 

14 	 6 

8 

question mark? 

5 

14 	6 

4 

87. 	w 	-1 	'f' 

4 

6 

c, T9 ct 

14 	 6 

8 	 8 

	 tkfA (4) 

14 	6 

4 
10 	18 14 	22 11 	15 

1. 	8 	 2. 	14 
3. 	10 	 4. 	6 

	

10 	18 	14 	22 11 	• 	15 

	

1. 	8 	 2. 	14 

	

3. 	10 	 4. 	6 

88. 	Choose the correct mirror image of figure (x) from 
given alternatives : 

 

88. 	F 	71- 	31 . 	(x) 	WI 	-uf:Wff 	TiDT 	MFORkr 

	1 § 

<Z> % 071> 
'.. 
5 
5 5 

(x) ( x ) 

(1) 	(2) 	(3) 	(4) 
(1 ) 	(2) 	(3) 	(4) 
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89. 	Choose the correct water image of figure (x) from 
given alternatives : 

-7 89. 	fir 	.3-c-Nl.  4 t 3Tr-T--ft (x) Th-T 3-ft-d.  uic1 
11DR4-61 

2 g 
(x) , (x) 

N0 N 0 N Q. 0/ 

c)
- 0 NO N P 0 / 

u n o C7 n 0 U 
(1) 	(2) 	(3) 	(4) 

(1) 	(2) 	(3) 	(4) 

90. Which is the minimum 	number of straight 	lines 
needed to to construct the following figure? 

AIIIL Ali&A. 

90. tt q 3T1Tt T). .q-9.1 .  * 	Titzft 	_qi311' 
ffff1=1 fl.t.q4I f+7-4 *? 

Ahlik.AL. 

EEO% .IIIIIE. 
_IEEE MERE 
'WI/ 

	

1. 	13 	 2. 	15 

	

3. 	16 	 4. 	17 

1111r1Pr 

	

1. 	13 	 2. 	15 

	

3. 	16 	 4. 	17 

Direction : (91 to 95). A cube is coloured red on all' of 
its faces. It is then cut into 64 smaller cube of equal 
size. The smaller cube so obtained are now separated. 

ffibT : (91 t 95) i 	Erff .4.  wIll tic16 T-1 eiici 
"tr 	'q111* t 	TRIT * ir-il 64 ts,)8_tjA8 zw-4 ER  4 

eilti irzn. t 1  tAti 	3T  3T4  i,ti. wok 61;11?  

91. How many smaller cubes have no surface coloured? 

	

1. 24 	 2. 	16 

	

3. 	8 	 4. 	10 

--8 91. 	1.-ii trrr pit to Eiff 4 ,4-itsqi ft-d-t *? 
1. 	24 	 2. 	16 	

. 

3. 	8 	 4. 	10 
92. 	How 	many 	smaller cube 	will 	have 	atleast 	two 

surfaces painted with red coloured? 
1. 	4 	 2. 	18 
3. 32 	 4. 24 

92. 	.r--d-4 Itt Eiff 4 did tTT.  t 	41.1 # t Tr-dt 
tlft? 

	

1. 	4 	 2. 	18 

	

3. 	32 	• 	 4. 	24 

93. 	How many smaller cubes have two surfaces painted 
with red coloured? 
1. 	24 	2. 	8 
3. 	12 	 4. 20 

93. 	f+---d--4 utt trff # d 	i d trr "' 372.T CUM  t 

'<-ici 	t? 
1. 	24 	 • 2. 	8 
3. 	12 	.. 	 4. 	20 

94. 	How many smaller cubes' have only three surfaces 
painted with red coloured? 
1. 	0 	 2. 	12 
3. 24 	 4. 6 

-d-  94. 	f+'Ott 1:1-ff # cfniqi 	cfi-f ,4ic16 t .f ---  eild 
tIT t trif ,Ni  t? 

1. 	0 	 2. 	12 
3. 	24 	 4. 	6 

95. 	A 6cm cube is cut into 2cm smaller cube. How many 
smaller cubes can be obtained from their- 
1. 	108 	 2. 	156 
3.27 	 4.64 

95. 	cl.) 6 71-41. * EI-9.  ct)) 2 s4)4). 	EF .# 11151t - 
5,ct4 4 Wit' ,Iii t ir+---d--41 , 1 '0)8 Erff co) 

1i it-cf 	1-Tfri? 
1. 	108 	 2. 	156 
3. 	27 	 4. 	64 
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Direction :(96 to 100) Read the following informations 
and answer the questions which follow :- 

1. 'A x B' means 'A' is father of 'B' 
2. 'A + B' means 'A' is daughter of 'B' 
3. 'A + B' means 'A' is mother of 'B' 
4. 'A - B' means 'A' is brother of 'B' 

fkt4T : 	(96 t 	100)tl' 1T4 T49T311 T'l t1oct) 

1*--ARga .-1I 	.i-k-N -tf'A- r :- 
1. 'A x B' TT 3T21 'A', 'B' TT qc11 t 
2. A + B TT 3Tz A , B4.  
'' 	t '' 	'' 	g:11 't 

3. 'A + B' TT 31v-t 'A', 'B' TeT fflc11 
4. 'A - B' TT 3TO 'A', 'B' TT I-TT4 t 

96. If P + Q - R + T, How is T related to P. 
1. Aunt 	 2. 	Brother 
3. Father 	4. Cousin 

96. 
. 

zfft P + Q - R 4-1-d).  T TT P -t.  cMi fl 4-eiff t 
1. 	r- t 	 2. 	ITT 
3. 	tic 	 4. 	-ci -c)I lIT 

97. Which of the following means that R is the wife of P? 
1. PxR-Q-T 	2. P+T+R-Q 
3. P+R-Q+T 	4. PxT-Q+R 

97.  "R" 1.1-.-1 	14 	14)flc.01 	3T2 	t, 	13  T`I' 1-lc-n.  t? 
1. PxR-Q-,T 	2. P+T+R-Q 
3. P+R-Q+T 	4. PxT-Q+R 

98.  If '13  x T + Q -4- R', how is R related to P? 
1. Daughter 	2. Husband 
3. Son in law 	4. Daughter in law 

. 

98. Tfit 	̀13  x T + Q + R' 'd). 	R 	cbl 	P7-4 	c4- 41 	'6-61zT 

t? 
1. 	VI' 	 2. 	,-if 
3. 	q141Iq 	 4. 	p-qi, 

99. If P+R-Qx 1'. How is P related to T? 
1. Grandmother 	2. Mother in law 
3. Sister 	4. Grandfather 

99. Tift P+R-QxT 'ff).  P 	)1 T 7)-  W-11 .-11-61q.  *? 

1. 	l'-4t 	 2. 	1Ifl 
3. 	qt9. 	 4. 	qI41 	. 

100. If 13 +Q+Rx T, How Q is related toT. 
1. 	Aunt 	 2. 	Sister 
3. Brother 	4. Nonw of these 

100. 

, 

TA' P +Q+RxT c 	Q cPI T t cl.411 fl1-6itT *? 

1. 	T-41. 	 2. 
3. 	1.-Tr 	 4. 	r4i t cP1 	9t 
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PART - II 
SCHOLOASTIC APTITUDE TEST (SAT) 

trzi-df fur 
(QUESTION NO. 101-200) 

\Licczn 101-200) 

101. A bomb of Mass 30 kg at rest explodes into two 

pieces of masses 18 kg and 12 kg. The velocity of li 

kg mass is 6 m/s. The kinetic energy of the other 

mass is. 

101. .cl) 11.  ft-247 31 	ITT# g, 	.1:1 # 	 30 ft-gf 4)1 

V-11 	* 61 1 q q6 18 it7TO 3117 12 .1 -71.0 

5,4)4 4 .1419-rIc 	\Tim! t, 
6 tO /t0 

zit 18 ft-TI-ro 
c).491,-1 * sue. --i-  krr 't 	V 

1. 324 J 	 2. 486 J Sct) . 4 TI-ft7 k31\rli '&41. 1 

1. 	324 VI 2. 	486 q(-1 
3. 256 .1 	4. 524 J 

3. 	256 qei 4. 	524 \VI 
102. A body initialy at rest start moving when a constant 102.  ct.) 	 T-/f 	c.N-q 	-, 	fl 4-11.-1 	q171 	---6. 	F 

external force F is applied on 	it. The force F is 
*; 	qR 	61 ci F Qi 4114 1R 	T4 (-1 -i i 	317-1T 	Th7th 	 

applied for time t = 0 to time t = T. Which of the 
following graph respresents the variation of the speed Tit t = 0 t 717f 1 = T Oct) 	c,1 41c11 t 	1" .1 ,-1 
(v) of the body with time (t) 14 t (v) 0-f 7-fr 4.114, 	ci,41 m't -cid! 4 sw-H4 .. 

Tifg 7 tiRcick col Tzrf-d-r t 1 

t vt vt 1'  
/ I. 2. 

vt 

1. 

v 

2. 
t -* T 

v 

T I-0. t --10. T 

vAt 

T I-0,  

3. 4. 3. 4. 

T t---10. T t--10. T t--00. 	 T t-11. 

103. A person can not clearly see objects at a distance 103. -) alf4ff 40 TIlit0 t 3Tit.  tH 7d11 

more than 40 cm. He is advised to use lens of power u*kvil Th1. .RTFF 9-gf ti 	1-11c111 \3) ( 4-1 # t 

1. -2.5D 	2. 2.5D fT vrror m -r (,)^(-1 	c1 411-11 	rit7 I 

3. -1.5D 	4. 	1.5D 1. -2.5D 	 2. 2.5D  
3. 	-1.5D 4. 	1.5D 

104. 	Gravitational force is essentially required for 104. Girl Vc-clIct) 	ul 1 4-.-1 	14 t ft.Rit if 10-ff: 

' 1. 	Stirring in liquid 3-1-E4Tz t 

2. Convection 
1. - 7 # rEit-d--4 
2. 1c.1.-1 

3. Conduction 3. 	tild-1 
4. Radiation 4. 	111 b 	‘,1 

105. An observer moves towards a stationary plane mirror 105. 4 AD /31.0 	chr) t 	c-1.) fZQF ct.) 	:11:4ff mild 
at a speed of 4 m/s the speed with which his image 4 3117 40 ct), 	'm ,4-1 4-1cIrl 	q4u1 	 t I 	\3tIcOl 
move towards him? 
1. 2 m/s 	 2. 4 m/s WiR 4-61 r+73 z-llel t37-1- 	.MIF -cle),11 
3. 8 m/s 	 4. Image will stay at rest 1. 	2 1:110/t0 	2. 4 Tfr0/t0 

. 3. 	8 #10/t0 	4. Citf4Rf ft w- 	411 

Page 16 of 28 



106. 
the 
If the ammeter in the given circuit 

value of resistance R (the 
negligible). 

3 Q 	R 

reads 2 A, What is 
resistance of ammeter is 

106. 41 	f 	TT7 	LiRt-ig # 711Z7 Ti L-11041(1) 	2 

7141-47 t t R fT TIN -44T -TT 0411, (q17PiTt 

 0 
4 0 

1. 
3. 

Mt'T -14Iu4 *) I 
3Q 

IMIll WWI 
6 f2 

6V 
652 

6V 

0 0 

1. 	1 f2 	 2.20    
3. 3 K2 	 4. 4 0 

I Q 	 2.2  
3 Q 	 4. 

107. A particle starts its motion from rest under the action 
of a constant force. If the distance covered in first 10 
seconds is SI  and that covered in next 10 seconds is seconds 
S2  then 
I. S2  = 6 Si 	2. S2  = 2 Si 
3. S2  = 8 Si 	4. S, = 3 SI 

107. 
t 

-) tiiii-i GM (VII.) 1:R 	.) 4-R:g FVTTT 31-4T-P-TT 
in m't 39-if A 31-r 7r-dt t, LA 

10t--o--z # si  et41 	Th-Tet t 30 arTr- 	10 
t c1.4 

S2  = 2 SI  
S2  = 3 Si  

1. 
3. 

T4*11  14 52  et4) -ff zr m - T d t 	 
S2  = 6 Si 	 2. 
S2  = 8 Si 	 4. 

108. Two planets of radii r i  and r2  are made from the same 
material 	having 	same 	density. 	The 	ratio 	of 
acceleration due to gravity g1 ig2  at the surfaces of the 
planets is 
1. 	rilr2 	 2. 	r21r, 
3. (rilr2)2 	4. 0'214 

108. 
, 

ri 31,7 r2fi7Efr 1 * t 4,16 ti 411-1 1:r TO 74 fl4-11-1 

1. 
3. 

ti vicci t i ,,, 	4 lido  TZR -11-----4171 	ccNui 

r21r, 
(r21ri)2  

31-Trra gilg2 0 '1 1 - 
rilr2 	 2. 
(rilr2)2 	 4. 

109. A concave mirror of focal length 15cm forms an 
image. The position of the object when the image is 
virtual and linear magnification is 2 is. 
1. 22.5 cm 	2. 7.5 cm 
3. 30 cm 	4. 45 cm 

109. 15 't 	0 OTTE et, 	* 31-4-ifF q ui gm v4 
pct, 

t 

t 
1. 
3. 

q*cl 	WiP+-cl 	--r fftg- 	arrqttff t 41--t r 
I 	s4fR44 3mmit -4, 	citcl Thcir Rel-f0- 
- 

22.5 .4)+1)0 	 2. 	7.5 	4-110 
30 	)4.i)0 	 4. 	45 	)4-i)0 

110. A body on an inclined plane slides down I fh of 
4 

distance in 2 seconds. It will slide down the complete 
distance along the plane in (the inclined plane have 
zero friction) - 
1. 4s 	 2. 	5 s 
3. 2 s 	 4. 3 s 

110. t5  c:N-( 	ftw4 311-9 T cid TH 14),(1ei 	7 	cP 
1.2,TT e%) 	2 T)-- tr 	4 -ffzr 	-7-et -4, 4g 	ci,tcl 

14 

I. 1 
3. 

5 s  

-P4-id() §q '0 	t,41 ft-d4 tiflo 	4 	zr Th---"Tfi, 
I 

3 s 

(3TT- ff dei tR ti 4.1 .v-KR4 *) 
4s 	 2. 
2 s 	 4. 

III. When four equal resistors are connected in series with 
a battery they dissipate a power of 10W. The power 
dissipated through any of them if connected across 
the same battery will be - 
1. 40 W 	 2. 10/3 W 
3. 90 W 	 4. 10 W 

111. 

\ 

74 
# 

z1H ti1-11-1 grd-RIti- 	tet 	TIM *it 04-1 
,vc-1-  t t cto vrWRTTI 10 Old Ocii 41 

LA .irti)-  t ft-ift 	t, 	--1 .3til td--ti t .111 
- v11 

1. 
3. 

q 	7rWruzi f --is -ffT 611 
40 qie 	 2. 	10/3 clid 
90 cild 	 4. 	10 qid 

112. An electron move with 	velocity v in a uniform 
magnetic field B. The magnetic force experienced by 
the electron is 
1. always zero 
2. Never zero 
3. zero if v is perpendicular to B 
4. zero if v is parallel to B 

V-q  

112. Bch 

4 
*c.)q- 	-1 v til- .0Icy t1411.1 T4-47:11 &")7 B 

40 ThR. 	t, *ti *Q1c1V-1 1:F 	d 4 1.) 	clidl 

t 

1.  
2.  
3.  
4.  

.11:4 -*1 cid 	411 
Tft4  
Wl-T lif 7ER:f -Igi 
V-t1 	Q-1.51 	v, Bit (14-61c1c1 

1,-"e4 	v, B 	*NI-11cH t 
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113. In the given circuit the voltmeter 
resistance of the voltmeter in 

0 	50Q 

reads 5V. The 
Ohm is. 

113. 
5 

1. 
3. 

f Tit -41t1ff LIRLIP-T 14 cl)crt 4-1) 	--1-  41cgl1cl) 
ci) et t 	ci) et 41) 	7ffittl.  

0 	50Q 

31)TT # cr411 t I 

100 
50 

WM 1111161111 
100 Q 

10 y 
100Q 

10 y 

	

1. 200 	 2. 	100 

	

3. 	10 	 4. 50 
200 	 2. 
10 	 4. 

114. Which of the following contain seven molecule of 
water of crystallization? 
1. Epsom salt 	2. Green vitriol 
3. Blue vitriol 	4. 	White vitriol 

114.  -7P4 1*-1 #f+14,\,-dActPM krIci 	* 	.11c-f 39 

1 
3. 

Oa .g? 

'1V31 -1:Tili (.1c1u1 	2. 	l 	-a.  
taT 1. 131-6. 	4. 	c-11V3T-F 

115. Which elements are used for galvanisation ? 

1. Zn and Sn 	2. Na and K 

3. Cu and Fe 	4. Ca and Mg 

115. 1i-.1 4 71 cj -I 74 ch-c1 r4-7 c11-1-1 	14 	w e1) 41 

Na 3It K 
Ca 3117 Mg 

f+7 \A R) t ? 
1. Zn 3ft7. Sn 	 2. 
3. Cu 31 	Fe 	 4. 

116. Ramesh dropped a metal piece 'A' in the solution of 
another metal 'M'. After some time a new colourless 
compound 'N' is fomed. A, M, N respectively can 
be :- 
1. Mg, NaCI, MgCl2 	 . 
2. Fe, ZnSO4, FeSO4 
3. Zn, CuSO4, ZnSO4 
4. Cu, ZnSO4, CuSO4 	. 

116. -4 	.-, *T 	grg 'A' 	Sc-1). 	cb) 	(.1.) Tit tug 
DA-M-1 	'n.4 	# 	ski' I 	vs, 	ti94 cnq 	) 

-?r #rT1fifim 'N' m-r illti:Tr Ocii * I A, M, N 
: 517 4-In 	- 

1. Mg, NaCI, MgC12  
2. Fe, ZnSO4, FeSO4  
3. Zn, CuSO4, ZnSO4  
4. Cu, ZnSO4, CuSO4  

117. Which fuel has highest calorific value? 
1. LPG 	 2. Petrol 
3. CNG 	 4. Hydrogen 

1:17. R 4-1 14 ct)-I 74't1-9* TT cri)R4-11.-i 
t? 

	

1. 	M. 	.v1). 	 2. 

	

3. 	.. 	 4. 

7T474 3T1' 

ftta.  
61*)1)v1.1 

118. The pH of acid rain is : 
1. Less than 5.6 	2. More than 5.6 
3. Equal to 5.6 	4. More than 6.6 

118. 
1. 
3. 

3ITF citif ..--T 	pH 	t: 
5.6

.
74 31RE 

6.6 74 31t1-- 

5.6 74 cOki 	 2. 
5.6 * ENIGN 	4. 

119. IUPAC name of the following compound will be : 

ii  
CH3  - C- CH, - CH2  - CH2  - COOH CH3-C-CH2-CH2-CH,-COOH 
1. 2 - Keto hexan - 6 oic acid 
2. 5 - Keto hexanoic acid 
3. Methyl Ketone butanoic acid 	 , 
4. 5 - Aldo hexanoic acid 

119. 0411 :- 

1.  
2.  
3.  
4.  

1 4-.-1 ztlfir- 	Th-T IUPAC 9 

-d)' 2 - 	tt-47919.  - 6 - 31'T 	3TII 
5 - .*d- 	c,t•<-1).1)*c17 31TF 

L'I-CY*1.  14f4-6. 	9.  c4.0-1)c1) 31-1  
5 - LSI 	cN1) -1)*ct) arlf 

120. 	Products obtained on electrolysis of brine are : 
1. NaHCO3, H2, C12 	2. H2, Na011, NaHCO3 
3. C12, NaOH, Na202s 	4. NaOH, H2, Cl2 

120. r1c1u1 ‘3.16.  * ftEiff 314t1t-1 74 14”-r WciT-41 -(I 

H2, NaOH, NaHCO3  
NaOH, H2, Cl2  

VI% -0-41.  :- 
I . NaHCO3, H2, Cl, 	2. 
3. Cl2, NaOH, Na202 	4. 

121. In balanced chemical equation 
a KMnO4  + b H2SO4  --> c K2SO4  + d MnSO4  + e H2O 
+ f [0]. 
Which of the following alternative are correct? 
1. a = 2, b = 3, c = 1, d = 2, e = 3, f = 5 
2. a- 1, b - 2, c - 1, d - 3, e - 2, f-- 3 
3. a = 2, b = 3, c = 2, d - 3, e - 2, f = 5 
4. a = 3, b = 1, c = 3, d = 3, e = 1, f = 3 

121. 0 
+ d MnSO4  + 

3-1Af'6-d.  .itiizAcI) fl4ct-Pui 
a KMn04  + b H2SO4  ---) c K2SO4  
e H2O + f [0]. 
.ftir # 	cilii 7iT f4 -:1 tig) t? 
1. a = 2, b = 3, c = 1, d= 2, e = 3, f= 5 
2. a- I, b - 	2, c - 1, d - 3, e - 2, f- 3 
3. a - 2, b - 3, c - 2, d - 3, e - 2, f- 	5 
4. a = 3, b = 1, c = 3, d = 3, e = 1, f= 3 
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122. Benzene (C6H6) have : 

	

1. 	12 covalent bonds 	2. 	15 covalent bonds 

	

3. 	18 covalent bonds 	4. 9 covalent bonds 

122. 4A'19 (C6H6) A :- 
1. 	12 	,z-izil,tct) 31-4- 1- 	2. 	15 tiq) vi co 31-4--ff 

3. 	18 	tiLi)vict) 3T 	.T4. 9 	.-iql.rict,  31-4---rti 
123. 	1.0 Kg of Iron (Fe), having atomic mass equal to 56g 

morl  contians :- 
1. 2.88 x 1024  atoms 
2. 6.93 x 1023  atoms 
3. 6.93 x 1021  atoms 3. 
4. 1.075 x 1025  atoms 

123. 1.0 	R,Atii 41 	c,i) 	(Fe), 	itic411 rffliTuj 	cc 191'1 

56 11P1 4-i)ri -', 4 ft-d-4 tRilitij 61.0 
1. 2.88 x 1024 77173j 

231171=19 2. 6.93 x 10z3 9 

3. 6.93 x 102  7R#9 

4. 1.075 x  10251TR79  

124. Aqueous solution of Cs02  is : 
1. 	Basic 	 2. Neutral 
3. Acidic 	4. Amphoteric 

124. Cs02  WT 7-414 1 1clq-1 Th4t 'Clyt -1-0't * :- 

1. 	airtzT 	 2. 	\i<i4-f 
3 	31-417f 	 4. 	31171E14.  

125. A student added a drop of universal indicator to 1.00 
mL of given solution and found that a green colour is 
produced. The pH value of the solution will be : 
1. 7 - 9 	 2. 0 - 3 
3. 	10- 12 	4. 4 - 6 

125. c,t) Is)if -4 R4 Tiq 1.00 ini, f4-d-zm # L , cb 
-u-o:rf zeTita. 	f- 	t1 f4FT4 riq -0 t-r 

glen' I fr1L1-1 ' cl.  pH Wf IT9 0411 I 

1. 7 - 9 	 2. 0 - 3 
3. 	10- 12 	 4. 4 - 6 

126. Elements present in any group have the same number 
of: 
1.Valence electrons 

Neutrons
-  

2. Neutrons 
3. Protons 
4. None of the above 

126. ft.tft lit 3W1 	* 	cicc.1). 	# 	‘1411.1 	,1* Cc.qi 	14 rITT).  

„Ha t 1 
1. 1c4,6 *(44.0,1 

2.  
sCIVIff 3. • 

4. \3t-N1civ1 # .4 chl 	41 
127. Which of the following reactions take place during 

break down of molecules in the respiration in our 
body? 
1. Oxiddation 
2. Reduction 
3. Oxidation - reduction 
4. Photo-oxidation 

127. '1=0 fi--1ffZ5ci 4 t m'.-i At wl- D,q1 	7TtR.  

4 Yu-1,-1 4 39311* c,t-) * c1,a.-1 	1t t? 

1. 371-ffziff 
2. \31-1-cRiq 
3. 3P:1-WM - \3i-cieil 
4. 17MTZT 3TEM719.  

128. Lactic acid is produced when pyruvate is broken 

down. 

1. In presence of oxygen in mitochondria 

2. In absence of oxygen in mitochondria 

3. In presence of oxygen in muscle cells 

4. In absence of oxygen in muscle cells 

128. Lii*\'nt $ 	c7 viir) 77 entct) 31TR \304 -̂i 

6 c11 t 1 
w 4 	179 	TReift 14 1. 	iiIOcosifzir 	31-1-4# 

ei-icli 	t 
2. 	411*t coiRv41 4 3ifTztv9. 	3jti-ReTf4 # 

cicii t 
P 	Th`l. 	4 3t1--49.  4 3. iiiti 	RI. 	4Rict,1311  

3tift2ift 14 Gi -MI t 

4. 4-Iiflt) RN). 	1 ct))Nlq)1311 # 3TIWit.  
3711TReift 4 clot t 

129. Separation of oxygenated and deoxygenated blood. 
I. Fulfils energy requirements of the body 
II. Ensures the effect transfer of oxygen in the body 
1. Both statements are true 
2. Statement I is true but statement II is false 
3. Statement I is false but statement II is true 
4. Both the statements are false 

129. 3i1-4#179 	civi 3.1tR.  3TITZTM-ff Tic 	'tom 	WI.  

7-1-4157uT  
I. Y14t 14 ‘5,,,,ii *t 30474---ar .-). to cfrmi * I 
II. Wft7 4 3 -4017ff 	c12,1c,i 6 M.c-POT Thl..  

3jrtft--ff cir<di t 
1. ).1). 	2•M tic-zi t 

2. T219.  I *IN * Af+-9- --2.1-9.  II 31-Tif t 
3. T21--ff 1 317TM t Ait-9 	21--ff II t1c=z1 

4. ‹).-ii 	-.g9.  41c1c1 t 
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130. 	Root pressure is effective way transporting water in 
xylem. This pressure is generated 
1. In bright sunlight 
2. During night 
3. At very low temperature 
4. In high trees 

130. 	\31. 	qq1c1 	u11(.14-1.  1 trrt 	uRci--1 	ct-, 1 	gl-T-rt 
.fft--T t I 	6 	q(sili 	3c-t-i--r Oor t 
1. 	(3f 7# 	 2. 	'fl(-1 	T. 	1--f 
3. 	qF cl,4-1 0114 4-11-1 W. 	4. 	4-;-c) 4-.A:  

131. 	Choose the correct option to complete 'A', 'B', 'C' 
and ID' in the following table. 

131.fi-r"&ftiff 	clAct-)i 	# 	, 	ft , 	4 , 	.sI 
IFF ci-)-) T f 	-Tit f4m--Fcr -q4 

-oil:h.  4)1 4 
Hormone Function 

7 TT* 31.711 i t lit 4) 34it 	(4-, 	1r t A Stimulates growth in all organs 
ft r4 '01#17 ct'1 ff-1----  cm's * f .  B Stimulates igituitary to release growth 

hormone Iry -4)1 	col . -K.nc-i 	ci-,c-ti t 
TiIR' # 7rwR-I -c't Tit-qT T)- 	fif)(-1 C Controls blood sugar lever 

D Regulates carbohydrate metabolism cl)sM1 t 
It ct)14161t 	-EV411-1 -GM 	cp) 	ffftzi-Pr-d- 1. A - Insulin, B - Thyroxine, C - Growth Hormone, 

D - Growth Hormone Release Factor 

2. A - Growth Hormone, B - Insulin, C - Thyroxine, 

D - Growth Hormone Releasing Factor 

3. A - Thyroxine, B - Insulin, C - Growth Hormone, 

D- Growth Hormone Releasing Factor 

Releasing  Factor, C - Insulin, D - Thyroxine 

ct,cir * 
1. 	7 - .&-9-, t - 	i \ -." 	, ,i) - 4% 

.mT11-9.  4 - lit -gT-417 	T 
---, 2 	7 - 	-14M, t - 	# - 

2TTTRYDT{q, 	- lit 	"-FIT 	4-11 -rict) 	FTil-4 
.ft 3. 	7 - 2TR1t%11- , 41 - P3r6, 	- It 

4. A - Growth Hormone, B - Growth Hormone 
 

, 4 -  

-^ .--srd-9, 7419., 4 - 	tr - 	J 
132. 	If a pea plant with wrinkled seeds and heterozygous 

tall 	plants 	were 	self pollinated, 	what 	will 	be 	the 
phenotypes of plants of F2 generation. 
1. 75% plants will be tall and have wrinkled seeds 

and other 25% will be dwarf with wrinkled seeds 

2. 50% plants will be tall and have wrinkled seeds 

and 50% will be dwarf with wrinkled seeds 

3. 50% plants will be tall and have wrinkled seeds 

and other 50% will be dwarf with round seeds 

4. 25% plants will be tail and have wrinkled seeds 

and other 75% will be dwarf with wrinkled seeds 

132. 	314k 	VTIf 	i 	1 (-, 	.417 3ft7.  fft'Ff 	d-;-4 1ft0 

fli2T 1:1Z7 4)i ENTT T4-zi (-NIP 0 	Om *, c 	F2 

Iret T.  "cht T 7-1°1-  4Tif 	-? 
' 	'f' ----  1. 75% riM 	 erTR ft .  

3117 34- 1-  25% tO V1-4-17 clic>) Lci  44 04) 
---F 2. 50% t1 	-(44 	f -q-- 	VIfi---  51.4) 

3t17 3F-4- 	50% lt0 Vl-47 fl-- 	cud 	i 
44 04) 

3. 50% EN' (-4 04) .i -9--T-  VI-4R t .  
3i17 31- 1 50% 710 + I) 	C4 f 	, -ilP-T 44 
5 .4  

4. 25% 	,,-r-c ci tit4 	4 	),) 3117 
-M-4 3f7-Tf 75% Vl-- R .41-- 	01 (,) 3117 	04) 

133. Two similar pea plants are growing in two different 
islands separated by a vast ocean. The phenomenon 
of geographical isolation will 
1. Not be seen as the plants get self pollinated 
2. Be seen as the plants are growing in isolated 

regions 
3. Not be seen as the plants get pollinated by ocean 

water currents 
4. Be seen as the plants do not get pollinated and 

reproduces asexually 

133. 	-H-II.-( 	171--- 	En-0 	ct-, 	faTTF 	41k-ll!N 
cikl 	31-1-1 i -?). 	+N 	q) 	3T-J4-r - 31-d-TT. -c-- M 

# (51 	,', 	t I 1-1\17InT tria4zi 
1. ct.)i 31-RTR. -9--ef ffthrr .4-74Yr 	TW ct)i 

, -clukl 4 i.-1 	6)01 	t 1 
2. CM 3.-Ri7 ftthFT WiTit It4 31WT-37671 

al' - Giq, 	 t I 
3. cM 31TR *Tel' -ftRkTTT 47-tit EN-11 TT 397 

T 1:1Tt 4)1 UT7T311 t Lk LNI 4 lu( 0(11 * I 
4. c01 31-Ti7 ff4ITT q-zir 	*1 i-kinur ---gI 

ct)()t-  4f.--  31-ffil-- 	.TET t w.)-1.-ri-r ct 	t I 
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134. DDT is non-biodegradable chemical when it enters 
food chain it gets accumulated in each tropical level. 
This phenomenon is called as - 
1. Eutrophication 	2. Chemical amplification 
3. Biomagnification 	4. Chemical magnification 

134. 

4)61 	v1101  

t It t 1-17 	eilL1)1+ 	sici 	'‘'-i1 .1.-1 t I 	'i1 	TIT 
RTIT- zi 
Ali 

$31z"--Jr # 4-q-izr 	cfrmi 	t th-  Ti .  Ti-ct 

•-cH 	li 	um! 	A- 	krilc11 t I 	9"1" 

1. 	71-Erur 	 2. .<N1141fct) P-449.  
3. 	‘Aci 31T-49. 	4. 	Ittizifq, 3Trard-9- 

135. 	Presence 
level in 
1. Colour 
3. Rhizo 

of 	is an 	indicator of pollution 

bacteria 
bacteria 

2. Coliform 

135. 	 
-wr 
1. 	t 

.)- -T:0-P-rft 4141 -14 Kim .$ *tH 
water. 

bacteria 	4. 	Spiral 

., 	cicp 	t I 
IT 2. ct4114)'14 c)cfcr)Ni 

3. t--4c,r81Nr 	4. wfit& 1r-49 

136. Leaves of tendu are the sourcce of income of large 
number of people in India. These leaves are used to 
make 
1. Thatched roofs 	2. Bidis 
3. Leaf plates 	• 	4. Teeth cleaning agent 

, 

136. A-I 'W 11.  1:1 	FiTa 4 6141 fltceif 4 d1,4 	3ITT1 
mi t-Alo 	t 1 Tff trf -zi).-  m--r -otrzi)-Tr f*.-i 4 .A.  

cl.) 61-II.) * 	WzIT viTc11 t I 

	

1. 	1-11c, 

	

3. 	izrf -zi) 
Thct 	 fl t1 	V a 	 2.rg 

Urn 4. 	qicl 	711EFT-4 
ct) ,k cndi 	Eitcr) 

137. Maximum number of trophic levels supported in any 
ecosystem is 
1. One 	 2. Two 
3. Three 	4. Four 

137. r+--4I Al tERReTth-  c61 c-i.4 # .9-4-0--d thfr tm 

2. 
 

. cl.  31-R1W-d1:1 , -1...czi I t I 
1. 	Bch 

3. 	c1 	1 4. 	mil 
138. Correct sequence of reflex are is 

1. Receptor 4 Motor Neuron 4 Sensory Neuron 4 
Effector organ organ 4 Relay Neuron 

2. Receptor 4 Sensory Neuron 4 Motor Neuron 4 
Effector organ -4 Relay Neuron 

3. Receptor 4 Sensory Neuron 4 Motor Neuron 4 
Relay Neuron 4 Effector organ 

4. Receptor 4 Sensory Neuron 4 Relay Neuron 4 
Motor Neuron 4 Effector organ 

. 

138. t Aff-4-41 

1. 	--r-g)-  

z4114 WT Wel-  st)1-I 

-> cp1Dicol c)-R--.  em--r -› 

2. Mt 

3. 111-er 

WT -> 	,,,- 	-> 	e----  ft- 	Q 11,o,1 	s.n\i-tHut 	1-  

4 3f---t .dftTT 4 witirso,1 	-f'-wr 

--) cOlPict) 1 1-W -d-N-T-r -> 	tiNui 

-› 7f-ktf -dftwr 4 cblPtcpi 

fimr 4 5intiNuf .diTT 4 	4k1 1N-,1 

4. tlIbil 4 74-4'1' t-ftwr -) uftfro,r e' -r 

-> vitipoil -> colPicm 0- ' .dftwi.  
139. 	Tricuspid valve is present in 

1. Right atria and right ventricle 
2. Left atria and left ventricle 
3. Wall of atrium 
4. Wall of ventricle 

	

a 	• 311- 	f41  

139. ict)R-,-4 	cireq 4 -urrftuff 6 di t 
1. qielf 3T1 	30 qizif f4-671 * .11u # 
2. GIN1 31Tr-6---  31I- 	GIR11 f4-6-4 -W En T1 14 

' .4- 	4 
4. 	f4a-zi mil.  ftrft A 

140. BCG vaccine provide protection against 
1. Measles 	2. T.B. 
3. Cholera 	4. Small pox 

140. t AI 11-  Thl trwr ft-Tr ,I 	q-clior *? 
2. 	tOtO OM -)-71) 1. 	t.-N1 

3. viT 	 4. 	14th T)-cIct) 

141. 	Find the 

• A 

	

1. 	160 

	

3. 	125 

D C 
area of the square ABCD. 

B 
m2 
m2  

141. qri ABCD 
D 

A 
I. 	160 
3. 	125 

Th-T &-I- TF- 	-I1c-1 .cti" 	I 
C 

B 
2. 	140 m2  
4. 	120 m2  

6 

m 

10m 

\ 

6m 

m 

\ Ir\  

10m 

m2 	2. 	140 
m2 	4. 	120 

m2  
m2  
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142. If (2x  -4Y + (4' -2) = OA  + 2x  -6Y , then the sum 

of all real values of x is 
I. 	0.5 	 2. 	1.5 
3. 	2.5 	 4. 	3.5 

142. + 2.' -6 	th.  x 
t : 

	

2. 	1.5 

	

4. 	3.5 

71-ft 	(2' -4 + (4x  -2Y = (4' 
7-414)- 	cm-c-if cr, 	111-9) 	cbI 	_.1).11 

1. 	0.5 
3. 	2.5 

1-43. 	If 	2019 ' + 2019 - = 3 , 	then 	the value 	of 143. tn' 2019' +2019-  .3 t, A.  

:- 

20196' - 2019"" 	is  :- 1

1 2019x  -2019 x 
11 ' 

6)jir  

20196' - 2019-6 	
..--T  9 1  1'  2019' - 2019- v 

I. 	3 	 2. 	6 1. 	3 	 2. 	6 
3. 	9 	 4. 	12 	 • 3. 	9 	 4. 	12 

144. Let 'p' be a root of the equation x2  -5x+ 7 = 0, then 144. Tfit 'p', x2  -5x +7 = 0 col 	4) 4-kci *, 	t 	i.t-i 
the area of circle with centre at (P, P) and passing i' m-r &kqch-F 14(icor (1)- (P, P) t 3t17 
through point (1, 4) is 6 411 f4 	(1, 4) t 6)c. 	4,.tv-m-11 *, 
I. 3ir sq. units 	2. 	57E sq. units 
3. 7n sq. units 	. 	4. None of these 1. 	37t wf *ct>1 2. SR c4 41 *c•Oli 

3. 	77t 	cpi 	c.t.)t 4. T914 t cp' 	.-Igi 

1 
145. 	If 	 then the value ofi2_c 

6 . ,N 3 i ,6

4_
( 

 

, 3  

,-_-. -
1 +-I , + 

) 
_L 

( 

is 145. 1 	
, 

-Tn' 	+ 	t M .=. -1 	_I  f._ W• lirff 
x+y 	x 	y x+ y 	X 	y vY Y/ 01 ) -1' 

:- 6 411 	:- 
1 1. 0 	 2. 	_ 1. 	0 	 ') 	I. 	_ 
2 2 

3. 	1 	 4. 2 3. 	1 	 4. 	2 
146. Let a, b and c are the roots of the polynomial equation 146. qR 	a, 	b 	47 	c 	--71--4. 	,-Actruf 

x3  - 597x - 5236 = 0 then the value of (a3  + b 3  + c3 ) 
is:- 

x3  - 597x - 5236 = 0 * tei 	 t, t (a3  + b3  + cl 
wr flii t : 

1. 597 	 2. 	15708 1. 597 	 2. 	15708 
3. 5236 	 4. 	10472 3. 5236 	 4. 	10472 

147. If cosec x + cot x = a , then the value 

12 	a-  +1 1 • 	 2. a`+ 	 , 

of cosx is 147. teft cosec x + cot x = a t cosx 

, 	, 	1 
1. a-+ -

a' 	
2. 

TT 
a" +1 

TiR 6 4111 

a 	 a-  -1 a -1 
a2 

- 1 	 4 	
a2 

+ 1 
. a2 

+ 1 
 

, 
a-  - 3. 4. 

a-  +1 	 2a a.-  + 1 2a 

148. 	In an AP 2, 5, 8, 11, ... 452. The mean of 15th. 16th, 148. 452. 	4 	15'41, 16t, *11411-Ith 	50-uft 	2,5,8,11, 	 
136th  and 137th  terms is 136t, 3tI7 13741 .14i AFT 3117-TU 0'111 
I. 	120 	 2. 227 1. 	120 	 2. 227 
3. 220 	 4. 454 3. 220 	 4. 454 

149. The minimum value of tan g  x + cot 2  x is :- 149. 1:1T9.  tan' x + cot 2  x M-1" ----"Ti 04ii :- 
1. 	1 	 2. 	0 1. 	1 	 2. 	0 
3. 2 	 4. 3 3. 2 	 4. 3 

150. If f(x)=x4  +ax3  +bx2  +cx+d is a polynomial 150. Tn.  f(x)=x4  +ax3  +bx2  +cx+d c,t.) 	Tgriq 

such that . f (1) = 5, f (2) = 10.. f (3)=15, 

find the value of .f(12)+  f (-- 8) 
f (4)= 20 . t -13-1-4 	f (1) = 5, f(2) =10, 

.0. t f (12) + f (- 8) W• TIN 

IN = 15, f(4)= 20 

6) 41T :- 
100 100 

1. 	198 	 2. 	198.4 1. 	198 	 2. 	198.4 
3. 	198.6 	 4. 	199.2 3. 	198.6 	 4. 	199.2 

151. The product of two 2 digits numbers is 2160 and their '151. 2 3w -et -d \i-k...,43# wr ul.-11-0c,f 2160 t 
H.C.F. is 12. Then sum of the number is 
1. 72 	 2. 84 

12 t, th.  3N 	\i-ict-)1 	416714-1 \9914c1c-ict) tit-k4f311 

.m-r z1) 41 	61 iir :- 
3. 96 	 4. 60 1. 72 	 2. 84 

3.96 	 4.60 
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152. The 	angles 	of 	a 	pentagon 	are 	in 	arithmetic 
progression. The sum of the smallest and largest 
angle is 

	

1. 	172° 	 2. 	108° 

	

3. 	180° 	 4. 216° 

152. .)- TA.  LCh 1:1 4-p * 	.--117 	-ili-ii-lck 3Auf1 4 t, 
TT-Ot 'r .013-1 AV TrOt qt Thtif (PI 1)+1 

4. 216° 

	

2. 	108° 
 

fil 	:- 

	

1. 	172° 

	

3. 	180° 

153. If 1-19 - 

r I)  - 541  

V--.(1 = 20 , then the maximum value of 

is : 

2. 	10 
4. 25 

153.  .5 - rg 	20 	t, 	-d). 	(P -5q) 	cill tift 
100 

6) 4 IT :- 100 	) 

	

1. 	5 

	

3. 	15 

	

2. 	10  
4. 25  

3.TRI- 771. 411-1 
1 . 	5 
3 . 	15 

154. The 

BC 

AB 

I. 
3. 

area of trapezium ABCD where AB = 52cm, 

= 12cm, CD = 39cm and DA = 5cm and 

II CD, is 
39cm 	C D 

154. 

AB 

DA 

1. 

3. 

\Liiiriki .q-44-p. 	ABCD 	cill 	-I 	cam, 	it: 31-14 

= 52 4r., BC = 12 *Ir., CD = 39 T)-41. ..P-TT 

= 5 telt. (AB' 'CD), t :- 

39cm 

5cm 12cm 

A 	 B 

5cm 12cm 

52cm 

210 sq.cm. 	2. 234 sq.cm. 
260 sq.cm. 	4. 280 sq.cm. 

52cm 

210 C14 T)lit. 	2. 	234 cI 4 	 *it 

260 c141 At. 	4. 	280 c141- 	 .#41. 

155. The 
area 

redius 

1. 

2. 

3.  

4.  

triangle 

difference 
inscribed 

`r' units 
of largest 

between areas of a triangle of largest 
in a circle of radius 'r' units and a 

area inscribed in a semicircle of 
is. 

r  2  Sq. units 

Sq. units 

Sq. units 

r2  Sq. units 

155. \I-1 t  -fl-I-4 * aW:FaI -cb-1 31- 7 ctit 	+II 

.r -9-# 	t 	1, 	̀r' 	*c.01 . 	f .-z3r,. 	r 	clic>) 	1v1 	14 	(51-11 

flcincr) 	&-)-9-ch-a- 	q1c-,11 	.1 .1-1--q. 	t 	.ffP_Tr 	el -ki 	'r' 

*c1-)Ii 	\3-f --zIT 	clic) 	3T 4p. 	11 	.51-11 	flcI 	4) 
-1) 

((

2-13  

4 

4-21,2  

i.  

2.  

3.  

4.  

a.- IFF 41c11 

-I) 

-f ..4p.  t? 

2 	4 r 	cI i *ct4 

I 

[21:3 
4 

l4-2•N r -) 
4 

13Z +4)r2  

r2  qfi *ct4 
4 1 

(3,+4\ 5  4 	) 

3.15 -4  

r2  cI 4 	*c.pli 

. 
4 	i 

(313-41r2  4 	) c1+ 	cIlli 
4 

156. If p, q, r and s are distinct prime numbers such that 
p+q+r=72, p+r+s=74,q+r+s=89 •The 

largest of these p, q, r and s is 
1. r = 53 	2. q = 53 
3. s = 53 	4. s = 49 

156. p, q, r .ff2,1T 

p+q+r=72, 

p, g, r 3117 

r = 53 
= 53 

2. g = 53 
 

-IR 
..1T 

1. 
3. s 

s p-i-f4---i 3P-TF7fr 	,fl. ...czliq t, 

p+r+s=74, q+r+s=89 

s 14 74 Tf-434 4-41 •<-kszil t :- 

 4. s = 49 
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157. 	In the given figure, the value of m is :- 
A

D 	 E (12,25) A 

157. 

-1 -1 

3T1Tit 14, m W TIN 6) 411 :- 

D 	 E (12,25) A 

15 

F 

C 

J 

B 

15 

F 	
rr 

C 

I 

(24,15) 
(12,15) 

B (24,15) 
(12,15)  

1. 
3. 

. 	I. 

5 	 2. 	10 
7 	 4. 	12 

I I. 
3 

	

5 	 2. 	10 
 

	

. 	7 	 4. 	12 
 

►  

158. Find the sum of all real values of x which satisfy 
1 	 1 . 	2 

158.  x * Trt ciitcnct) 	'iii) 	W.  El 41 	vci '`'Ir'- 7, 
1 	 1 	 2 24R . 

1. 
3. 

x2  -lox- 45
+ 
 x2  -10x - 29 	x2  -10x - 69 

1. 	7 	 2. 	10 
3. 	13 	 4. -3 

x2  -10x - 45 
+ 

x2 	 -10x - 29 	x2  "- 10x - 69 
7 	 2. 	10 
13 	 4. -3 

	

3 	3 159. If N= 3174+ 35+1, then the value of 	+._____F___ 
N3 	N2 	N 

is :- 

	

1. 2 	 2. 4 

	

3. 	7 	 4. 	1 

159. -1  ± 3  + -3  W TIT9' 

	

N 3 	N2 	N 

2. 4 

	

4. 	1 

..d 4IR 	N=1/4+ -kri+1, 

6 4II 	:- 
1. 	2 
3. 7 

160. 	In 

I.  

3.  

Among 
and 
cm. 

a class average height of all students is `p' cm. 
them, average height of 10 students is ̀ q' cm 

the average height of the remaining students is ̀ r' 
The number of students in the class is :- 
A - r) 	2 	q - r  

160. ft-At TUT 	'Ft 1Yrql 	43:1-ff FRiit `p' 

t 
1.  

3. 

4). t I 	it -# 10 rf - 1.  aNT-dc 	i 	'q' 
 t 31 	Ala  ligt 4 NIRT-ff -ori- 	'r' 	. 

I '&9-r 4t m`).  ctrf •-icq41 t :- 
p(q - r) 	 2. 	q - r 

	

(p - r) 	 p - r 

	

q - r 	4. 	10(q - r) 

	

(p - r) 	 p - r 

	

q - r 	 4. 	I qq - r) 10(p- r) 	(p - r) 
10(p - r) 	 (p - r) 

161. What are the National colours of France? 
1. Blue-Green-Red 
2. Green-White-Red 
3. Green-Yellow-Red 
4. Blue-White-Red 

161. 
1.  
2.  
3.  
4.  

g.)10 * 7PsftET tir 4.241 t? 
-1)<11-6.l-cilei 
6I-.Ritk .-eilcri 
61-11-FT-e•licrl 

(-11-Titt-q-rild 
162. Which was not included in Lenin's April theses? 

1. Formation of Duma 
2. Bank be Nationalised 
3. Land be transferred to peasant 
4. War be brought to a close 

162. 

1.  
2.  
3.  

4.  

- 14.9..-  
zrr? 

'30-F 2ftftmi # 	t1-9Trr tif4ifci .-A 

WIT W 4 i ort 
4'4 W 	t r) qc1) 	1 
til• 	741-

I  

4 Dr<11-li 	c11(-) Thl.  vilq 
\94-11I-c1 	ft.z:IT 	vilq 

163. Hitler 	assigned 	the 	responsibility 	of 	Economic 
recovery to 
I. Herbert spancer 	2. Hyalmar schacht 
3. W Shirer 	4. Robert Lay 

163. 1 e-d7 	3T2talTO-TT Thl.  t1 IR 	(-11'I 	4 
R 

1. 
3. 

i 	i 
-4-8 Tc1TH 	 2. 	6 q 1 r141l' 	YIit.wl 

3.-- 	li* 	 4. 	7.14.8 A.  
164. Which of these had worked as indentured Labourer? 

1. Shaukat Ali 
2. Alluri Sita Ram Raju 
3. Jawahar Lal Nehru 
4. Baba Ramchandra 

164. 

1.  
2.  
3.  
4.  

*14 t c4)1.1 Mi*. ii TR-V , 	\'‘)4 14 com 

.7 -qc V 
VftWff 3T-A.  
31- Ttl. 	dI 771 '<IA 
v1c116 	did •)) 

611611 	'fl41-cl-q 
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165. Who wrote the Book "Hind Swaraj"? 
1. Subhash Chandra Bose 	• 
2. J. L. Nehru 
3. Kamla Nehru 
4. Mahatma Gandhi 

165. 	-ft-- 	tcP<tvi 	ig•R? 	.ftTEfr? 
1. IFTEI -c1.- 	61)•ti 
2. v1c116TF 	6si) 
3. 09(11 	', 6.<t) 
4. 4iwiii  ifft  

166. Which country was known as 'Siam' 
. 1. England 	2. Thailand 

3. Holand 	4. Swaziland 

"11114  166. 	Thiff m 	YI 	* -1141 3").  v11-11 u1111 2TT? 

1. 	"eA-7 	 2. 	2Th*A9- 
3. 	Tal7   	4. 	tc-11u.i)cluS 

167. Which of the following Prime Minister Constituted 
"Simon Commission"? 
1. Robert Walpole 
2. Stanley Baldwin 
3. Ramsay Mac Donald 
4. Winston Churchil 

'til*1-1.-1 167. 	1- 1-AR.qc-i 	li 	t it-e T.NTFIT41.  4 

ciA)14-1 	TT 416-i P, 	1? 
1. 	71-4•8 cild t-1) (1 	2. 	'.-1(,) 	611eZci)-1 

' 4-v).  3. 	4)(14-11e5 	4. 	iz47Z-9. 	F 

168. Dr. B. R. Ambedkar formed the 'Depressed Classes 
Association in 

	

1. 1928 	2. 1929 

	

3. 	1930 	4. 	1931 

- T. 	 '-dka 168. 	T. 3T17. 3Pif-Z 	A- 	-q-rf 7tAitcrViff" 
4 	Erffr 4 - 
1. 	1928 	 2. 	1929 

• 3. 	1930 	 4. 	1931 
169. Jeevita Samaram' is the autobiography of 

1. C. Kesavan 	2. Saudamini 
3. Mankojee 	4. R. C. Dutt 

'11itdT, 169. 	t14-N 4-1" 3TT-01- 211.  * - 
1. 	"ill--tirlff 	2. 	aq1P 
3. 	1T9011 	4. 	3T17. #1. -4•• 

170. Who establisheed the Vietnamese Communist Party? 
1. Phu So 	2. Mao Zedong 	• 
3. Ho Chi Minh 	4. Phan Boi 

(1-? 170. 	zict-Ii 41) co 4q-P\1- 	1:11-6 -i-v-TTEIT f+--e-4 
1. 	1-5,, 711 	 2. 	1731).  ‘3)<141 

 	3 	t t Th 	 4. 	4)11  -4)1 
171. "When France sneeys, the rest of Europe catches 

cold" who remarked this? 
1. Mazzini 	2. Metternich 
3. Gottfried 	4. John Lock 

--..-cf "1 /4r1ssi 171. 	s.bitl 41q)01 fTiTa- 	"A• Tre/ 	-•rli 

M vilc11 *" zig W4ff ft 71---c t? 
1. 	4741 	 2. 	c •j tq 
3. 	41Ie,N 	 4. 	kr11-1 	ei1 /4 0 

172. Which one.  of the following is the main cause of land 
degradation in Punjab. 
1. Intensive Cultivation 
2. Deforestation 
3. Over Irrigation 
4. Over Grazing 	 . 

172. 	quiltsf 41ft 	u; c ,T TICqf c01,01 t 1 
1. 416-1 4-IdI 
2. 49YR:0-9.  
3. 3TRI 	ftf- T.4 
4. Mt tRstiNui 

173. Traditional 	rain 	water 	harvesting 	is 	called 	in 
• Rajasthan. 

1. Tank 	 2. Tanka 
3. 'Pond 	4. Lake 

173. 	Wzif 	v1q1 	*1 4,16u1 	Th1 Vrq-- -QTT9' 14 it-ii -ffili '4 
Q-11 ,11 	1 /4311 c11 	t? 
1. 	TrZ. 	 2. 	icIli 
3. 	thrill 	 4. 	1:MR.  

174. Which of the state has most sugar mills in India? 
1. Haryana 	2. Punjab 
3. Maharashtra 	4. Bihar 

174. 	liffa 11 3T-4-# 3TifT.  Att.  Pei ftv 	ivei 4 *? 
1. 	61ellull 	 2. 	Ituill 

• 
3. 	411'tIE= 	 4. 	?OR 

175. In which industry Bauxite is used as raw material? 

1. Steel 	 2. Cement 

3. Aluminium 	4. Jute 

175. 	R4.-111Z10 # Off wr w-drr clichii*d 	--1 w'' 

4-11e1* '<ni-I 4 wzn-rr ci,mi t? 
• - ti.. 	 #11:1•Z 1. 	 2.  

3. 	lrePRg4i 	4. 	Lictfri 

176. Roof top rain water harvesting is the most common 
practise in which of the following cities :- 

- 1. Shillong 	2. Imphal 
3. Guwahati 	4. Patna 

176. 	ts,c1 	.4,3If 	\AM 	*p.16.1 	R 4--1 c• RAci 	4 	3). 	ftTi 
7TR.  Thz̀1.  31Til AST * :- 
1. 	f4ratrr 	 2. 	*1-1-bici 
3. 	7TUTeI 	 4. 	qe-ii 	 . 
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177. Which of the following groups constitute the basic 
rock form :- 
1. Sandy, Igneous, Metamosplic 
2. Igneous, Sedimentary, Metamosplic 
3. Lignite, Volcanic, Sedimentory 
4. Sandy, Volcanic, Igneous 

177. 1-,---AiZqo 	A --)- 	0-ff 	‘-it 	col. 	ll-ci 	-,40-1 	cm 
T -d-.  cmc'r t :- 
1. tet-6-r, 3174-4 	cr)ViiciPc1 
2. 3.1P-44, 31-4-iTi., 4)1 q ic1Pci 

3. f'r-11*t, 	vcileilta, 314TiT1 
4. t-draT, \rcilciIa, 3TF-- zf 

178. Mango showers occur in which one of the following 
group of two states :- 
1. Bihar & West Bengal 
2. Tamil Nadu & Andhra Pradesh 
3. Karnataka & Kerala 
4. Maharashtra & Andhra Pradesh 

178. 3TT13, 	-4-Eff 	1 4-.-AR.qc-1 	# 	t 	f'+-- 	-- 	7 FT,  f): 	# 
.o)--dt t:- 
1. ftM7 ail 	T-TRNTE 4 411(-1 
2. 'M -6-;-115, 3t17 3TIV CraTT 
3. cr)--I I Jcr) 	3117 	ci 	Q-1 
4. 4-16kIt 	3117 3T1V W- 7T 

179. Tropic of Cancer does not pass through 
1. Chattisgarh 	2. Odisha 	, Taredi 
3. Rajasthan 	4. 	Tripura 

179. T-- 	_,---11 	1-4--AR.qc1 	# t 	14)‘F 	'1Q-4-f t Tgl 
- 	. 

1. 	10-c1)\9 41q, 	 2 	-StRiT 
3. 7TH 	4. fVT  

180. AMUL milk scheme is an example of which type of 
industry :- 
1. Basic Industry 
2. Agrobased Agrobased Industry 
3. Joint Industry 
4. Co-oserative Industry  

3. 	 TItlf ' --flYTT 

180. AMUL 	'Iq- Tf)---A-9T "f -TI 	1-1-11-  c1-)1 	\3c,'16 111 t :- 

1. 	3ITUR 'V 
2 	-T-f4 3TivT-R-ff 

4. 	'1 /4960-)1) 3-EIYII 

181. Which one of the figures represents the working age 
groups of the population 
1. 15 - 65 years 	 2. 15 - 66 years 
3. 15 - 59 years 	 4. 15 - 64 years 

181. 

• 

f*-11%c-1 	# 	34Th--19.  t 	3if 	u1.-1.q-If 

ct)14Aei .31-q-c14 .44 . 7rit t :--- 

	

1. 	15 - 65 citi 	2 	15 - 66 citi 

	

3. 	15 - 59 citt 	4. 	15 - 64 "q-4 
182. Chemical Industries usually are located near :- 

1. Iron & steel Industries 

2. Thermal Power Plant 

3. Oil refineries 

4. Automobile Industry 

182. , k-IN.Ifct) ---d-ir aTfOm----d7 f+--Ri ...414 1 	7ituf 
ff.M 	)c) 	:- 
1. (416-*V-110 -3a 4 i 

2. IT NU 
ii: ffz.11 3 	c)ri 

v  4. 	• 	- 	\3s1) 4T 
183. BAMCEF means - 

1. Backward and minority community employees 
federation. 

2. Backward and mining community employees 
federation. 

3. Backward and majority community employees 
federation. 

4. Backward and malabar coastal employees 
federation. 

183. 01-41:5-  4)1 31-0 V- 
1. ti Th-qg 1Tcr 	4-11L1-1-1Ror) WROt1 	-1c.11*u1 

1z.)51,-1 
2. tTc.1.4 7,:r 	lifefilt M-17k-ftef "crr-craTZ7 

1-5i.-1 
3. -4Th-qt 	u5.  i-1u1)RJ) TTIftel- 	441c,11*\)i 

5 	1.-1 
4, 	1‘-.1-)t4.4 73. 	411(414IN 	c.t)'N-tc-1 	1. 	-k-1c,11*\31 

184. 	General Election are called as :- 
1. On death of any member. 
2. Election before specific time in whole country and 

staes. 
3. On

t 
 completing five years. 

4. Empty seat due to any reason. 

184. 3TTici -T-ilciW-6-4 t - 
1. ft-TTI 	co .d q \J-q 4 119 614 tH Ti-iici I 
2. 1. P-cic-i TFITE --). 11-6- 	& tzj ZIT 	IQ'q -44 

l.) 	cIle) 	V-11c1 I 
3. -crM c1 ti TO 0-1 ":=R Tilc-I I 
4. f+7it c -)Nuf t 	lara t 6),-) 	.1-c-,-ii -t-E 	fir 7 

71-4 I 
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185. In 44'h  Amendment which fundamental right has been 

removed from the list of fundamental rights. 

1. Freedom to speech 

2. Freedom to make groups 

3. Right to work 

4. Right to property 

185. 44 74-1t-TT9-  #T)-zr9-  -TAT -f+7i Trd-- 	3Tf0M--R 
ct)) 	-R--fitUrff 	4 	Tf1T6 - 	ThI TO t 

t1z41 Trzn? 
1. qTfTfur 	a.) 	4 	-c.ic-ilcil 
2. -1.416.-1 	c1.-II.) 	cA 	. -c-Ic-14101 
3. T111- 	c•t-)1 
4. Till:Fit 4)1 3-T-RFWP 

186. Which of the following statement is correct? 

1. Union list - 66 subjects; state list -- 97 subjects; 

Concurrent list - 47 subjects. 

2. Union list -47 subjects; state list - 97 subjects; 

Concurrent list - 66 subjects. 

3. Union list - 97 subjects; state list - 47 subjects; • 

Concurrent list - 66 subjects. 

4. Union list - 97 subjects; state list - 66 subjects; 

Concurrent list - 47 subjects. 

186. 

,t-ici 	 - 66 t-tAl 

f4lf 14 t Off .-1 I .9-1-9-  TI---74 *? 

1. Tip IVI - 66 ftlEfzi; 7F7-  1 TO - 97 I:41m; 

,111c1c-Nt-r-1) - 47 

2. . -11ETVI - 47 	t1 '.l; -RF-73-  1 VI - 97 rd-t171; 

3. 7i1:1701 - 97 R4t14; 	1--- 	TO - 47 -ftERT; 

-T.1:14-41-VI - 66 - 

4. 74-ERTA)-  - 97 it-ERT; - 1T-R:1-- 	---0 - 66 ffERI; 

•<-1 4-1c1cN-0 - 47 

187. A person who is not a member of any house of 
Parliament, if he is appointed as minister. He has to 
get elected to the one of the house of Parliament with 
in. 
I. A month 

2. Six month 

3. Three month 

4. Stipulated time is livxily the President 

187. - 71-T 	czfrO. 	vl) 	\Lki a 	* 	ft-7ft 	̀4.fi 	fla.-I 	4)1 

flq \lq-1 q-g -  t, --f --9-  lit -4-- 4 TR \3flc•I')) f+-ff4 

-R-flizi 	. 	T4Tiq 	-Tr a-). 	4 	-4 	fttft 	-, 	col 

. 	-11 -1a.- -T 	EI.-I. 	-W-t 	)c.-II 	t - 
1. 	-) Tferk 
2. 165: T4114 4 
3. i-rFT TO.) 4 
4. -Ticitft 	NI c14 fr.t- T,T IN ffTRF # 

188. Why is "Power sharing" reganded as good. 

1. Reduces poverty 

2. Maximises wealth 

3. Provides employment 

4. Reduces social conflict 

188. -fl-cil 4 	-,114)q11- 	cP) 	3M-351- 	4-11 -11 	vilc-11 	t 
41)1 	:- 
1. 41Mt cbq ct-rWI t I 
2. q-i 4 -9-% cMc11 t I 
3. vi 41H 37Feci ct-Pc-II t I 
4. flI 4-IlicI5 TITO:  # tr-MIci 	ct) 41 cMc-II * I 

189. Main feature of 'Pressure Groups' is : 

1. Direct control on political power. 

2. Try to influence the politics of Government 

3. Lax organisation 

4. Direct participation in political powers. 

189. - ""T-41-4 ' 	c.61- 	• 	0 	g :- 
1. k3-1.1)1c1) 	Q.1-c11 	TR- -cr- i&-T 	1z4,--4,1 I 
2. fl 	4)1 	Th). .-1-----140- 	cil) 	-7-4-110-ff (.1)..) 	01 

Iqc-.-1 
3. ttal -a-T-FT .d 41d.1 I 
4. ,flui.-11P 	7i- T # qcqE '4-TrTfI - 1--t1- 

190. Among the following which are is the main aim of 

starting civil rights movements in America :- 

1. Adult franchise 

2. Vote to right for women 

3. Abolishing social discrimination 

4. Fan direct election of Congress 

190. 314)Pc-PI 	f 	-II +IN) 	3T1.---a)-F9- 	-cic.ii.) 	c•-1-7 -ft9-  

T) (MI 3Vzi 21-r? 
1. ci-N-q,  Tr--d-rfrm-H 	fm 1 

-r -q.  2. Tiff-FM): 	Trd-if4- 17 * 	I 
3. 'N-c1 311-KT-- 1)---a-9-14 4 -11=Iftfchi f'07 

-rM 4. ct-)1 	* 	Sic.-12-lai" 	1-11c1 	* 	I 
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191. President can declare emergency when :- 
-17)  

1. Prime Minister advises him to do so. 
.z•-..„..." 

2. Parliament advises him to decelare emergency. 

3. The counsil of minister, in writing, advises him to 

do so. 

4. Home Minister asks him to do so. 

191. 	711-cif4 	31TEr1dTh-TF 	4 	ITI-IsrolT 	c.. 	.<1 ,-.1)11 
l :- 

1. -CTT9-4t ..-4 	-il cm,) ctt c.t) 
2. -.3-TO 	s1 k14 \3-- 	31-11:1Tffct)10 	Elsru-11-  4 	*icit 	1 

* --4 .c.ftlIRER 'ft-4.R.sto # . Vi I cM.) 3.  
ct fle-116 - '1 

. 	4. 	v-lE1 	7(t-fi-4)-  3",- , 	.Vz1c61 	.R=1.-6-1-t - '1 

192. Amnesty International is an international organisation 
which works for :- 
1. Work peace 
2. Justice 
3. Restoration of democracy 	 . 
4. Human Rights 

192. 	79t--er 	.-t , 4-q-Fra- 	,) 	;34--k-viq 	, -.1416,1 	t 
Q 	--1-zI 45-Tel t : - 

1. faTI Writ * fk; 
2. . f171 	fjc 
3..a)c-t)c-i%f .ef TaC41-  * fcr'N 
4. 	111-1c1 	3T 	ct)k) 	-- -fti.7 

	

193. In 	which 	year 	'Universal 	Adult 	Franchise' 	was 
implemented in India? 

	

1. 	1947 	 2. 	1950 

	

3. 	1919 	 4. 	1935 

"stn  193. 	'4TR-a 4 	4-ic1act)ki 	fTi. 	ci4 	;lit -f--zir 

TRIT? 
1. 	1947 	 2. 	1950 
3. 	1919 	 4. 	1935 

194. In which year, consumer protection act was enacted? 

	

1. 	1986 	 2. 	1988 

	

3. 	1985 	 4. 	1987 

194. 	-174-11T 	'-k-Trit 	3111-:.,-i 	it-Tr 	.44 	4 
34-irtkIlftl.  itTET 4 N-H? 

	

1. 	1986 	 2. 	1988 

	

3. 	1985 	 4. 	1987 
195. Which among the following is considered to be most 

liquid assets? 
1. Gold 	 2. Demand Deposites 
3. Land 	 4. Money 

195. 	i+--liwzlo 	4 	D---ic.p) 	-R-T-4) 	c-NM 	-u-Pciffi 
lirql.  v1101 	? 

	

1. 	3quf (a-rr) 	2. 	Tell' ‘3140 

	

3. 	7-lii). 	 4. 	qr 
196. Food security is ensured in a country only if -= 

1. Enough food is available for all the person 
2. All persons have the capacity to buy food of 

acceptable quality 
3. There is no barrier on access to food 
4. All above 

196. 	ffr 	4 zff-r-Er 	T aTi 	q\-)tic! 	.T4-ir -t-ffN-o.  
tit t ..--4 - 
1. Tit C`111) 	C 	-TRT tiziff T4TEI \ik-1(-1--1-  t 
2. . 4-it :1) 411 .4 	1:1171. 	-ItT1-4 7,10-4-ffi 	.ZTRI 

IT<TO Utr-4-4 q-j?l affm 
3. 7q1-ZI cbc1 \3L-1c-16-1-dT 4 co'14.  q-rtn -9- 
4. \3'N)cfv1  

197. The The 	headquarter 	of world 	trade 	organisation 	is 
situated in 
1. New York 	2. China 
3. Japan 	4. Geneva 

197. 	PR4 zzlir4F fl 4 1d-9.  CM t.:sziicriq ft-Q-1-ff t 
1. 	.1-r 	 2. 	-,1).4 
3. 	u11 	1.1 	 4.tt4T 

 
198. Under National Rural Employment Guarentee Act 

(2005), How many days of work are Guarenteed in a 
year? 
1. 80 days 	2. 	100 days 
3. 200 days 	4. 300 days 

	

Trku 	?  

198. 	Us& 717117 ‘ \lul 1IN 41Htref 311c4PRITE (2005) 
* 3P7r 4 icl 	) 	cri 4 ft-d--4 F4-- 	cit)-  c.tw- 	(41 

cPt t 
it9- 	 q 1. 	80 	 2. 	100 ft 

3. 	200 f4--ff 	 4. 	300 F'i  
199. Who is the founder of Grameen Bank of Bangladesh 

1. Abdul. Rehman 	2. M. Yunis 
3. Mujibur Rehman 	4. Amartya Sen 

199. 	441c1I1 -- -411-417 tf-. 	* \L-I 	4;1-1 *? 
1. 	3Tc-c7 '61-11-1 	2. 	1-1. TKftU 
3. 	VT 	6fl I -1 	4. 	31-4jcq '.).-1 

200. 	-ii---1 RI ftr-ff 	4 	t 	qiNct 	-4)- 	f{ 	-Tr7-4, 	4 P  00. From the following in which state of India the use of 
chemical fertiliser is highest? 
1. Punjab 	2. Haryana 
3. Rajasthan 	4. Himachal Pradesh 

77i1z1f . 7fre-, (1)1 W-1141 .trait 	*? 
1. 	(--funcl 	 2. 	d'aiuti 
3. 	1\TR-2-1-M 	 4. 	2411 -El c1 3:11.  
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